ALL INDIA MOCK TEST

Sample Paper - 4

DURATION : 180 Minutes MARKS : 720

Topic Covered

Physics : FULL SYLLABUS
Chemistry : FULL SYLLABUS
Biology : FULL SYLLABUS

Please read the instructions carefully :

L

10.

11.

12.

13.

The test is of 3 hours duration and Test Booklet contains 180 questions. Each question carries 4 marks. For each correct
response, the candidate will get 4 marks. For each incorrect response, one mark will be deducted. The maximum marks
are 720.

Use Blue/Black Ball Point Pen only for writing particulars on this page/marking responses.
Rough work is to be done on the space provided in the Test Booklet only.

On completion of the test, the candidate must handover the Answer Sheet to the invigilator before leaving the Room/Hall. The

candidates are allowed to take away this Test Booklet with them.

The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer Sheet. Do not

write your roll no. anywhere else except in the specified space in the Test Booklet/Answer Sheet.
Before attempting the question paper ensure that it contains all the pages and no question is missing.
Each candidate must show on demand his/her Admission Card to the Invigilator.

If any student is found to have occupied the seat of another student, both the students shall be removed from the examination

and shall have to accept any other penalty imposed upon them.
No candidate, without special permission of the Superintendent or Invigilator, would leave his/her seat.

The candidates should not leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and

sign the Attendance Sheet twice.
Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by all Rules and Regulations of the Board with regard to their conduct in the Examination Hall.

All cases of unfair means will be dealt with as per Rules and Regulations of the Board.

The candidates will write the Correct Test ID Code as given in the Test Booklet/Answer Sheet in the Attendance Sheet.

Name of the Student (In CAPITALS) :
Candidate ID :

Candidate Signature : Invigilator's Signature :




BEWARE OF NEGATIVE MARKING

TOPIC : FULL SYLLABUS

& T a7 | y=Asin[wTX—a’kj # (k)

oI foor g1 Brfl SiEf oefig gl o o &
M v e

(1) [LT]

2 [T]

@ [ T]

4 [T%]

frfafaa & o9 1 feen SOt &1 996 &
(1) dfc —JDHvS

2) f&& T H i

(3) e -

(4) oIt

o ™ % H M T FU | BN

Displacement

30°
30 X
Time

1) 1:2
@) 1:1

3) 1:43
4) 1:3
TF A (t) 9avs ¥ HaATg (H,) T (2t) ddvs 3

FaiE (H,) & el 2 @ \/%=

(1) 2
2 4
(3) 05
(4) 0.25

DI AT B A B

(1) J&ex} BT JRT JT 3R TH & ol Hifas IlRmt
% forw aw1g

(2) IR OHS A Hifds Il & forg wwa '

(3) UdHih AT BT 1 B PIg AMAD 34K 7 8 faar 8

@) aft 97 2

wx
y =Asin[7—a’kj

Where o is the angular frequency, v is linear
velocity? Xis distance then dimension formulafor
(k)is:

(1) [LT]

@ [T]

@ [ T']
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Which of the following is a unit of energy:
(1) Watt —second

(2) All of the given
(3) Newton —meter
(4) Joule

For given graph ratio of velocities is :

Displacement

30°

30° .
Time

(1) 1:2
@ 1:1

3) 1:4/3
4) 1:3
A ball takes (t) second to fall from a height (H,)

1

and 2t second to fall from a height (H,). Then |,

2

is (consider ideal motion) :
(1 2

2 4

(3) 05

4) 0.25

Which is correct statement :

(1) Vector addition or subtraction is possible only
between vectors of same kinds

(2) The product of vectors is possible between vectors
of different kinds

(3) Unit vector has neither units nor dimensions
(4) All are correct




10.

1.

(h) S8 | T Y&Y (u) 9T 9§ BHT AT & A
ERIAA TR SHGT arel &l sl |

(1) Ju? +2gh
(2 2gh

(3) u
(4) u+2gh
e & B 91 U 9 B

(1) URETY] &7 dIex Aisd R I 3R U& gerag
e & ford wg @

(2) oI=T BT g7 STl GReTO BT UTel Bl &

(3) HITRA FHoll BT fIgd &= & v H |l axarl &
(4) ol 3 ursy Ryw faws HAra) 9= @
Wfte faga a3 &

(1) Teh AT &

(2) AN &

3) wweft &=

(4) 3raRel &

IA—THT TS § THY dqrell 38T W §8 &%
T qaqT R

(1) 3maT

(2) 9t

(3) Sl

(4) T

&4 & B ,P,,P, f&dl &9 R T T o B AR

o1 ReR & @ PP, smw ¥ owaq & a

T A & A & 919 3§ (S G A B
RGN ST & | 9 AR S7aeT

1) FReg Rerfcr & argfawr g1 e

2) 31l Reafd & srgfawr gt e

3) SRR AT 31eT & AFfaeT

(
(
(
(4) R Aol el B Srgfaw

10.

1.

A projectile is projected with velocity (u) from
height (h) then speed on striking the ground is :

(1) +Ju® +2gh
() /2gh

@) u
(4) u+2gh
Which is incorrect statement :

(1) Bohr's model of atom is valid for only isolated one
electron system

(2) LentzZ's law obeys the law of conservation of energy
(3) Capacitor stores energy in the form of electric field
(4) Open pipe forms only odd harmonics
Electrostatic field is a :

(1) Uniform field

(2) None uniform filed

(3) Conservativefield

(4) Non conservative field

In given force- time graph, area encloses by graph

on time axis gives :
(1) Impulse
(2) force

(3) Energy
(4) Velocity

When forces P, ,P,,P, are a acting on a particle of

mass (m) such that ,52 and ,53 are mutually

perpendicular if particle remains stationary then
(1) P ='(|32 +|33)

(2) P, +P,+P,=0

(3) P, =+/P? +P?
(4) Al of these

In the midway between two equal and similar
charges, a third equal and similar charge is
placed. Then the third charge :

(1) Experiences a force along the equatorial line
(2) Experiences a net force along the axial line

(3) Isinan unstable equilibrium along axis
(

4) lIs in a stable equilibrium along axis
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An unloaded truck can stopped by applying breaks
on straight road after covering a distance (2 meter),
when truck loaded by 50% of its weight and
breaking force remain unchanged. How long will
the truck go after by break force?

(1) 2meter

(2) 3meter

(3) 4 meter

(4) 6meter

Two identical particles move towards each other
with velocity (2V) and (V) respectively the velocity
of centre of mass

A stone tied to the end of 20 cm long string whirled
in a horizontal circle. If the centripital acceleration
is 9.8 m/s2. Its angular speed in radian/sec is ?

A non-conducting rod AB of length / has a total
charge q. The rod is rotated about an axis passing
through its centre of mass with a constant angular
velocity ® as shown in figure. The magnetic
moment of the rod is :

(1)

el

4)

The escape velocity of a body depend upon mass
(m)as:
(1) m°
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WA
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(1) ac9 o 3rfdreaH (1)
(2) 94 # s1fdrmdH (1)
(3) ¢ # rfrman (Il
(4) ) g H aRIER

Jfe A.C.uRuer ¥ e = 400 sin 200 t volt 3R i = sin

(200t+§jamp.%l a9 i wifda &g 2

(1) 100 W
(2) 200 W

(3) 400 W

(4) 2002 W

3id qad U &1 1 W B9 oA g7 @

1

1) A=t

J2nnd?
RT

2) A=

@ V2 nd?PV
KT

RN P

(4) (1) 3R (3)
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The frequency a vibration of a system in case of
forced vibration is equal to:

(1) Natural frequency of the system
(2) Frequency of periodic force
(3) Slightly less than the natural frequency

(4) None of the above

The three vessels shown in figure having same base
area. Equal volume of a liquid are poured in the
three vessels. The force on the base will be :

WA

() ()
(1) Maximum in vessel (I)

(2) Maximuminvessel (ll)
(3) Maximum in vessel (lll)
(4) Equalin all vessel

An a.c. circuit e = 400 sin 200 t volt and i = sin

(200t+§jamp. Then the average power
consumed is:

(1) 100 W

(2) 200 W

(3) 400 W

(4) 200~/2 W

Formula for mean free path of a gas is :

1

1) Ao

J2nnd?
RT

2) A=

@ V2 nd?PV
KT

O Teap

(4) Both (1) and (3)
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(1) 107 m Joule

A

(2) 10* m Joule

Volume in 30 O
litre
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(4) 1078wt Joule 1030 >
Pressure in KPa
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(1) 4000 A
(2) 5000 A
(3) 4800 A
(4) 5500 A.

g Sl Bl 0°C ¥ 4°C T T4 fHar War 2 :
(1) C,=C,

(2) C,<C,

(3) C,>C,

@) C,-C,=R.
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1 A
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21,
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Volume (V) versus Temperature (T) curves at
constant pressure (P,) and (P,) for an ideal gas are
shownin:

(1) P,>P,
2 P, <P,
3) P,=P,
@) P, >P,

Heat energy absorbed by a system in going through
a cyclic process shown in figure :

(1) 107 & Joule

A

Volume in L
litre

(3) 102w Joule 10

(2) 10* & Joule

(4) 10-8 mt Joule 0 30 >
Pressure in KPa

In a single slit diffraction experiment first minima
of A, = 6000A coincides with first maxima for
wavelength A, then ), is :

1) 4000 A

2) 5000 A

3) 4800 A

4) 5500 A.

When water is heated from 0°C to 4°C, then :

(1) C,=C,

(2) C,<C,

3) C,>C,

@) C, -C =R

(
(
(
(

The distance travelled of a particle in S.H.M. in
one time period is :

(1 A

2) 2A
3) 4A
(4) zero

where (A) is amplitude
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The ratio of the kinetic energy (K) and total energy
(U) possessed by a body in S.H. M. when it is at a

1
distance of [;] of its amplitude from the mean

positionis:
(1) m?

1
@
(3) m2+1
4) m2-1
Kirchhoff's first law is based on

(1) Conservation of momentum
(2) Conservation of mass
(3) Conservation of charge

(4) Conservation of energy

A magnet of magnetic moment (M) has been
broken into three equal parts in length and two
equatl parts in breadth then magnetic moment of
each piece :

(1) M/4
2) M2
3) 2M
4) M/6

A double convex thin lens made up glass
(R.l. =1.5) has both radii of curvature of magnitude
20 cm. Incident light rays parallel to the axis of
lens will converge at a distance .................. cm.
from the lens:

(1) 20
) 10
(3) 30
(4) 40

An electron is moving along +ve X-axis in
perpendicular magnetic field which is pointing

along + Y axis then forces on it is directed along :

) along + X axis

~

along +Y axis

~

(1
(¥
(3) along + Z-axis
@

) along-—ve Z-axis
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(1) 2Ve
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31.

32,

33.

34,

On increasing temperature resistivity of
semiconductor:

(1) increases

(2) decreases

(3) remains same

(4) firstincreases then decreases

For given ray diagram, the reflected and refracted
rays make an angle of 90° with each other. The

angle of reflection and refraction are r and r'. The
critical angle would be :

Denser

Rarer

1) sin™' (tanr)
2) sin™'(tani)
3) Both 1and 2
4) None

A~ A~ S~

If escape velocity on the surface of a planet is Ve.
If planet shrinks such that its radius decreases to
1/4 th of present radius without change in mass.
Then escape speed on its surface is :

(1) 2Ve
) Ve
(3) Vel2

(4) Veld.

In which of the following collision conservation
of linear momentum is valid:

(1) In elastic collision
(2) Elastic collision
(3) Linear collision

(4) All of the above
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K
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K

d AVv?
2K

(3)

d AV
@ T

e & g 99 ©

(1) B AHfed gl @ Magnetic susceptibility
gD 3R ST il 2

2) Iraafes ggref @1 Magnetic susceptibility
gHTHD IR HH B 2

(3) STATHfed el @1 Magnetic susceptibility

FUMHD 3R HY Bl &
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R
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35.
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A tank containing water is fixed on a trolley. The
rear side of the tank is attached by a spring to a
wall. When the tap T is opened, water begins to
flow out. If the spring constant is K, density of liquid
is d, velocity of efflux is V, cross-sectional area of
the tap is A, then the compression of the spring in
equilibrium position is:

dAV?
K

2d AV?
K

d AV?
2K

d AV

@ =

Which is correct statement :

(1) Magnetic susceptibility of ferromagnetic substance
is high & + ve

(2) Magnetic susceptibility of paramagnetic substance
is low & + ve

(3) Magnetic susceptibility of diamagnetic substance
is low & negative

(4) All are correct

Find equivalent resistance b/w A and B :

(1) i
3 R R
8R — M\ N
(2)? A R R R B
R R
3) R
4) 8R
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frer # w0 B
PA PA
(1) @) /
A >
PA PA
@) \ @ \\
— > — >

AP BT BT T BT ®

(1) 10" kg/ m?

2) 10"9kg/ m3

(3) 108 kg/ m3

(4) 102 kg/ m?

T URUY H IRV GUSell YRR I E | ORI
dices ¥ T Bhft

(1) 90°

2) —90°

@ o

(4) 0°180°

= # aed ot fawya St ofavrer far 2
(1) e
(2) dTeld
(3) 3raTclD

4) 3ETD

U$ el dldd 90° B A W HIvfig Qe
$R e 2| oar fr o 7 ueRRfa ¥ o & fba
AM & foly ST R HRATER $HUX BN :

38.

39.

40.

41,

42,

Which of the following graphs correctly represents
the variation of particle momentum (P) with
associated de brogle wavelength (1) :

PA PA
Q) @ /
A —>\
PA PA
® \ @ \\
—>) —>)

Density of Nucleus is :

(1) 10" kg/ m3

(2) 10"9kg/ m3

(3) 108kg/ m3

(4) 102kg/ m3

In a circuit containing an inductance of zero

resistance, the current leads the applied AC
voltage by a phase angle of :

(1) 90°

(2) —90°

3) 0°

(4) 0°to 180°

The forbidden energy gap is maximum in :
(1) Metals

(2) Conductor

(3) Insulators

(4) Semiconductor

A simple pendulum is vibrating with an angular
amplitude of 90° as shown in the adjoining figure.
For what value of a is the acceleration directed
vertically upwards

~ -
.........




43. o ¥ weRfq sfga@R =@ PQR W [B.di

45,

I
Q
® P . R
(1) 12an
(2) Zero
@) la
(4) T 9 PIg TE

95 I W™ © T HARG el @1 srgfodt
250 Hz 3R 350 Hz & | 350 Hz § faial &1
=l

(1) 4
@ 3
@) 5
4) 2

W -1 ¥ HB ANl au & - 1l § yEfaa
a6 H S0 A9 el W §| W - | al
T - Il B Gaferd & :

@™ - | = -l
(A) TS &1 g9ca () 85
(B) 3T TS B (I 1017

QeId BT AT Bblel
(€) g & eifafwe (i 1

SUUE DI Al
(D) ¢RI R oS (IvV) 8

AldSd D S
= ey 1w fAwe & 4 |98 S gH|
(1) (A)= (1), (B)- (1), (C) = (1), (D) - (1)
(2) (A)=(IV), (B)=(I), (C)—(I), (D) = (Il)
(3) (A)=(1), (B)—(ll), (C) = (1V), (D) —(I1)
4) (A)=(1), (B)=(IV), (C)=(Il), (D) = (1)

43. Find the jé.di for semicircular arc PQR shown

45,

in figure
Q
® P . R
(1 12an
(2) Zero
3) la
(4) None of the above

Two successive note of a close organ pipe are
250 Hz and 350 Hz. The number of antinodes in
350 Hz mode will be

) 4
) 3
3) 5
4) 2

In Column-l there are something and Column-I|
there values in common units. Match Column-I
with Column-Il :

Column -1 Column - 1l
(A) Density of nucleus ( 85
(B) Time period of (I 107
infinite length
pendulum
(C) Speed of satellite (m 1
very close of earth
(D) Length of second (Iv) 8

pendulum in earth

Choose the correct answer from the options given
below :
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Atomic Masses : H=1, He=4, C=12, N=14, 0=16, Na=23, Mg=24, P=31, S=32, C|=35.5,
K=39, Ca=40, Fe=56, Cu=63.5, Br=80, Ag=108, 1=127, Ba=137, Au=197, Pb=207

5
46. psFe** BT Fol TH o TIx BT AN &

@ KOH/Br, ‘ (f(l—(i)(ll—:j

. i oy © 25D +E (acid)
OH

Sdre (D) feas g9+ & —

S
o mw >

(4) D

FelHCI NaNO/HCI
@ QT

»(2)e,
O&o‘,
OQ Sr

Br./FeBr;
48.

{O)—r

SWRh fAfharet & orgmd # S (E) ?

(i) C;H,COCH, @
—_—er o,
HO"

@ BEIETSI

CH,

OH

OH
cl CH,
OH
CI;

5
46. The total spin of 25FeX+ is iE . The value of x is:

(1) 1
2 2
@) 3

4) 4

i z KOH/Br, CHCIj
47. Heat O O KOH
OH

The product (D) is same as -

1 A

©—>D+ E (acid)

2 B
@ C
4 D

® Fe/HCI ® Nag:é/iCl @OOA
2

Br./FeBr,

48,

(i) C;H,COCH,
No, —_—>
@ HO' ®

In the above sequence of reactions, the product
(E)is

f/
@ Jeui/biN

(1) Cl CeH,

o e Qo

:




49. THifed 3 @1 fado ReRie x x 1052 | w4

50.

51.

0.2 M CH;COONa & 25 mL fa@as &1 0.02 M
CH,COOH & 25 mL faeiad & @l e i
2 gRom) faci@s &1 pH 58 ST & x &I
A 2

(1) 10

2) 8

3) 6

(4) 2

afafsear & sifdw s (Y) @R (2) &
OH

CHCIJKOH %
4 > (X) 50% KOH;(Y) +(2).

Jege

OH
COOK
OH 3R
CH,OH COOK
3) @ 3R

0
COOK
HO©
CH,
D<CH=CH , By 2

U< & I 9™ SE BT

Br Br

CH,
CH,
(1) 0% @) ﬁ;’cm
H,
R _eH, Q. cr-cH,
3) i;’CHs (@) Br

49. The dissociation constant of acetic acid is x x 1075,

50.

51.

When 25 mL of 0.2 M CH;COONa solution is mixed
with 25 mL of 0.02 M CH,COOH solution, the pH of
the resultant solution is found to be equal to 5. The
value of x is

(1) 10
2 8
3) 6
4 2
The end product (Y) & (Z) in the reaction is:

OH

CHCI/KOH > (X) 50% KOH: (Y) + (Z)

©r-

COOK
OH and
CH,OH COOK
@ and

CH,
Eﬁcwcm —HBry o

The major product obtained would be:

Br Br

(2)

CH,

CH,
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53.

s
HC-C—CH,~~> A + B
| €9 More Minor
H percentage percentage
A &R B B9 B[
GH, CH,
(1) HO=C=CH,, CH.~C—CHCI
cl H
CH, CH,
() HC-C—CHO, HO-C—CH,
H cl
o CH,
(3) CH~C—CH,-CH,, CH~C—CH.CI
H H
o
(4) H.C-C—CH,, CHrG=CH,-CH,
Cl H

fafr=1 geodl & w@oHie & fav A few T
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PEEIEE

IN
1=

Y
B.P. H

(Y) @)

Alkanes —

(X) (W) (R)

0 /\/\M/)/\/\/\/\/YV\
@ NAAA Ara AN AN
o M NI AM A
@ AA/\/\AN\/)/\/\AA

53.

H percentage percentage

A and B will be respectively:

CH, CH,
(1) HC-C=CH,, CH—C—CH.O
Cl H
CH, CH,
(2) HC=C—CHOI, HC-0—CH,
H cl
o CH,
(3) CHC—CH,~CH,, CHC—CH.CI
H H
CH, o
(4) H.C=C—CH,, CH:~G—CH,-CH
cl H

Observe the following diagram for boiling points
of different alkanes. Identify the hydrocarbons X,
Y,Z, W, R

IN
1=

Y
B.P. H

(X)

Alkanes ———

(Y) @ (W) (R)

i ANAA AN AN A
B NAAA A AMA AN
o AN NI AN A/
o0 MAAAN A s




55.

56.

H,S0, BS alc.KOH
Q 170°C B A ¢
alc. KOH D NBS

1 4 9 Swmd U @
(1) S7(g)+e(9) > S*(9)
(2) Ne(g)+e7(g) > Ne™(g)
(3) N(g)+e(g) » N7(g)
(4) P(g)+e(9) » P(9)

3dgTad L> RSP dwl &) IR 9 TR WM W
AT Hoftall D HH DI <A™ AT 2| o 9
E 8 bl 87

[ (E)

IE
(kJ/mole)

3rd Period elements——»

(1) Na
2 S
@) P

4) d

55.

56.

H,SO, BS alc.KOH
Q 170°C B A ¢
E alc. KOH D NBS

Select equations having exothermic step:
(1) S7(g)+e7(9) > S*(9)

(2) Ne(g)+e7(g) - Ne™(g)

(3) N(g)+e™(9) > N7(g)

(4) P(9)+e7(9) —» P(g)

Consider the variation of ionization energy across
the 3" period L — R. (Left to right) What is the
element E?

(E)

IE
(kJ/mole),

3rd Period elements——»

(1) Na
2 S
@ P

@) d




57.

58.

59.

& T affsr &1 g= IAR '

i
CHa—CHz—CHQ—O—IC—CHQ—CHSi>
CH,

i
CH=CH,~CH-|, HO-C-CH,
CH,

i
CH~CH,—CH.~OH, |—IC-CH3
CH,

i
CH,~CH,—~CHOH, CHS—CHZ—?—I
CH,

CH,
I

CH~CH,—CH,~OH, CHS—CHQ—(IJ—OH
CH,

ATl SRASAYH & I8¢y 3F | Sy=AIiRd
B W (P) a1 21 (P) d PCC ¥ SUARA &=
R (Q) @ & @ik (Q) BT T NaOH & &I T+
H R (R) fAear 21 3ifom S@re (R) & :

) 0
(1) (2)
1) (0] (@]
0

Hg"
CHS—CE C—HW (A)@(B)

(4)

A TT B I ® :

OH

| I
(1) CHCH=CH, CHCH,-C-H,

OH

| I
(2) CH~C=CH,, CH~C~CH,

(3) CH, —C=CH, CH, —CH=CH,

7 i

(4) L_
CH.~C=CH,, CH,~CH~C-H

57.

58.

59.

Major product of the given reaction

o
CHS—CHZ—CHZ—O—CI)—CHZ—CHSi>
CH,
o
(1) CHrCHCHHO-C-CH,
CH,
o
(2) CHrCH-CH-OH FC-CH,
CH,
CH,
|
(3 CHrCHCH-OH. CH.-CH-C-
CH,
T
(4) CHrCHCH-OH. CH.-CH-C-OH
CH,

Cyclohexylamine when treated with nitrous acid
yields (P). On treating (P) with PCC results in (Q).
When (Q) is heated with dil. NaOH we get (R). The
final product (R) is :

O @)

(2)

(3) )

CH~C=C-H—2— (A)=>(B)

A & B are respectively :
(I)H I
CH;~CH=CH, CH,~CH,~C-H,
(I)H I
CH,~C=CH,, CH,~C-CH,
CH,-C=CH,CH, -CH=CH,

o)
) | ]
CH~C=CH,, CH.~CH~C-H




60.

61.

62.

63.

64.

KCl &1 fha-l &= 500 U9 S d fAerg Wy
S oI @1 f@¥id -0.2°C B WY

[K{(H,0) = 2K Kg mol~1]
Q)
(2
(3)
4)

V, Cr, Mn 3R Co & fou #Ade soiesls favwg
(M3*/M2*) ¥ —0.26 V, -0.41 V, +1.57 V 3R +1.97
VE o1 o W Ud O A W H, BT Ieaford
PR ThT ®, d T

(1) V2 qr Mn2*

3.725¢g
7449
1.8625¢g

6.29g

(2) Cr2*qurCo?*
(3) V2* qorCr2*
(4)
1 wHfal § faaer pKa siftead &
(1) 2, 4-STEAEBII

(2) 4-TEgITe

3) 2, 4, 5-CISHIAhAT

(4) 3-FARDHETA

3l AreEE | 0.1 M, €,0,72 in 250 mL f3ea=
goia: srafa &

(1) 0.1 MKMnO, T 200 mL fera

Mn2* qIT Co2*

(2) 0.2 MK,Cr,0, & 250 mL faeras
(3) 0.1 M K,MnO, BT 100 mL frera

(4) 0.1 MK,Cr,0, &T 100 mL faeras

el & 1 w9 @ foy 7= Sak P&
)Ok/\)ol\ 1) Zn/Hg P
HCI .
—’ 9
Ph NH, 2) LIAH, major produc
3) H,0'

OH OH
(1) Ph A OH @ Ph PN NH,

OH OH
(B) Ph AN NH, (4) PhW\NHZ

60.

61.

62.

63.

64.

How much amount of KCl is added in 500g of water
to decrease the freezing point of water to —0.2°C

[K{(H,0) = 2K Kg mol~1]
(1) 3.725g

2 749

(3) 1.8625g

4) 6.29

The standard electrode potential (M3*/M2*) for V,
Cr,Mn & Co are —0.26 V, —0.41 V, +1.57 V and +1.97
V, respectively. The metal ions which can liberate
H, from a dilute acid are

V2* and Mn2*

Cr2* and Co?*

V2* and Cr2*

MnZ* and Co2*

Which has highest pKa value among phenol is
2, 4-Dinitrophenol

4 - Nitrophenol

2,4, 5- Trimethylphenol

3-Chlorophenol

250 mL of 0.1 M solution of C,0,~2in acidic medium
completely reduce

(1)
(2)
3)
@)

The major product ‘P’ for the following sequence
of reactions is:

200 mL of 0.1 M KMnO, solution
250 mL of 0.2 M K,Cr,04 solution
100 mL of 0.1 M KMnQ, solution

100 mL of 0.1 M K,Cr,O5 solu

O (@) 1) Zn/Hg P
Ph AAAN NH, HQ' major produc
2) LiAIH,
3)H,O’

OH
@) oy A NH,

OH OH

@ oy AAA N,

OH
M pp A~ on

(B) Ph AN\ NH,




65.

66.

67.

68.

A I BT BTggIoMA URATY] & 9@ 9IR
F&ET B AT 0.6 AT | He* o T IR Hel
o e derfer # 7 -

240
300
270
320

afrfsar
Zn(s) +Sn*(aq) = Zn>'(aq)+ Sn(s) ® faT AT
ReRi® 298 KIR 1x10208 | Ifg E2, , =-0.76 V

Zn?*/Zn

2, @ Sn/Sn?* & UM Sodagls fawag &1 gREmr
2

2.303RT

fear 2 =0.059V

(1) 12x1072V

()

(3) 28x 1072V

(4)

fedi® ey &

A g foamme @ gaa § faoms &1 9w
TE HF BT B

B. Y& faams @1 ga o e &1 aw
TE e BT B

c. Wi W daa faolm & ] @ T
D. 39l W daa faemds & o] wwd €|
BHET /DY BT HEl B

(1) @dd A3MRD

(2) ®ad B3R C

(3) Bdd AIMRC

4) Bad A

g amad # fhow a@ 8 o 4d St #
goqeid SuRerd 87

(1) 10

17 x 102V

22 x 102V

2 8

@ 0 @) 2

65.

66.

67.

68.

Assume that the radius of the first Bohr orbit of
hydrogen atom is 0.6 A. The radius of the third Bohr
orbit of He* in picometer is —

240
300
270
320

The equilibrium constant for the reaction
Zn(s)+Sn? (aq) = Zn*(aq)+ Sn(s) is 1 x 1020 at
298 K. The magnitude of standard electrode
potential of Sn/Sn?* if E5 .. . =-0.76 V

Zn?*/Zn

~ 2.303RT

Given =0.059V

12 x 1072V
17 x 1072 V
28 x 102V
22 x 1072V

In the depression of freezing point experiment

A. Vapour pressure of the solution is less than that
of pure solvent

B. Vapour pressure of the solution is more than
that of pure solvent

C. Only solute molecules solidify at the freezing
point

D. Only solvent molecules solidify at the freezing
point

which statement(s) is/are correct.

) AandD only

~

B and C only

~

(1
2
(3) AandC only
(4) Aonly

How many elements present in 4" period which

are having electrons of 4d subshell?
(1 10 2 8

3) 0 @ 2




69.

70.

71.

72

73.

s 9 fraer aRaw =& gar &
(1) XeOF,
(2) NeF,
(3) XeF,
(4) XeFg

Ife F & RO Far X8 T Ne Y 2
XaY ¥ | gy 2Rm?

(1) X>Y
2) X<Y
3) X=Y
(4) None

CO, CO2,C0,# C-O dy <aig &1 HH BRI?
(1) CO<CO;?<CO,
(2) CO;<CO,<CO
(3) CO<CO, <CO;
(4) CO, <CO <CO;?

ST ¥ DI ¥ AYRTAT BF,, NO,, NH, T=IT H,0
D DI URA] BT HHIOT sp? 87

(1) BF33iR NO,

(2) NO, 3R NH,

(3) NH, 3R H,0

(4) NOj; 3R H,0

™ 9 59 Aifies § H 31 sifeefioro sreven
-1 8?

(1) CH,

(2) NH,

(3) HClI

(4) CaH,

69.

70.

71.

72

73.

Which of the following does not exist?
(1) XeOF,

(2) NeF,

(3) XeF,

(4) XeFg

If atomic radius of Fluorine is X and for Neon is Y,
then what is relation between X and Y?

(1) X>Y
@) X<Y
3) X=Y
(4) None

Correct order of C-O bond length among CO,
CO;?,C0,is

(1) CO<CO}<CO,
(2) CO<CO,<CO
(3) CO<CO, <CO;
(4) CO, <CO<CO;?

In which of the following molecule/ions BF 3, NO,,

NH, and H,0, the central atom is sp? hybridized
(1) BF3and NO,
(2) NO; and NH;,
(3) NH, and H,O

4) NO, and H,O

In which of the compound does hydrogen have an
oxidation state of -1?

(1) CH,
(2) NH,
(3) HCI

4) CaH,




74,

75.

76.

FYUF (A): U& REd a9 W) UF ey N @
AR® ot Mg R iR & axa 2

PR (R): AT BT dad dd W R H=ar
=l

(1) HUF TAT HROTIHE! FET & AT BRI, HAT B

e ARAT 2

PHUF TAT BRUT AT Hel & AT BRI, HAF B
TE AT T8 ©

P UE! © oAfhT BRI Told &

()

3)
(4) BT AT 8 b BRI TSl B
Sarfa afifsar @ fag

N,O, (g) = 2NO,(g) - AT

GiLEa G s A

(1) NOL(g) B! AT Bl HH B A

(2) ST P gTHR AT AU B HH B A
(3) ReR 3maas W Ne(g) i1 &I e &
4) (1)TAT(2) Al A

g oife affpar @ fav 9 § @ o=
IRY e T8 87

t1/2

YR Agdr—>

log—— slope = L

2) t 2.303
NHY

[Al,

3)
HH —>
I slope = K

In[A],

4) I In[A],

74,

75.

76.

Assertion (A): Internal energy of an ideal gas at a
particular temperature does not depend on volume.

Reason (R): State function depends only on
temperature.

(1)

Both Assertion and Reason are true and Reason is
correct explanation of the Assertion.

Both Assertion and Reason are true but Reason is
not a correct explanation of the Assertion.

(2)

(3) Assertion is true but Reason is false.
(4)

For the reversible reaction

Both Assertion and Reason are false.

N,O,(g) = 2NO,(g) - heat

The equilibrium will be disturbed —
(1)
2
3)
(4)

Which of the following graph is incorrect for first
order reaction ?

By decreasing concentration of NO,(g)
By increasing pressure and decreasing temperature
By adding Ne(g) at constant volume

Both (1) and (2)

t1/2

(1)

initial conc. —>

log—= slope = K
@) 2.303
time
[Al,
)
time —

I slope = K

In[A,
4) I In[Al,




77. 9 @ fou sfufpar & oor

78.

79.

1
MO—>M+§O2 is 50 kcal eI

1
MO, eM0+502 is — 100 kcal 2

M+0, >MO, & fag aififiear @t o & -
(1) -50Kkcal
(2) —150 kcal
3)
(4) +150 kcal

=1 Al @& forg syl affshar &1 wear gon
9

©©©

(OX OMe Cl
(a (b) (c)

50 kcal

(1) a>c>d>b
()
3)

(4)

a>b>c>d
b>d>c>a

d>b>c>a

77.

78.

79.

The heat of reaction for

1
MO - M +EO2 is 50 kcal and

1

The heat of reaction for M+ 0O, - MO, is —
(1)
2
3)
(4)

Decreasing order towards Syl reaction for the
following compounds is:

ofclefo

NO, OMe
(a) (b) (C)

—-50 kcal
—150 kcal
50 kcal
+150 kcal

(d)
(1) a>c>d>b
(2 a>b>c>d
(3) b>d>c>a

4) d>b>c>a

OH
g\ ++>An alkene (Major)

identify the structure of the alkene:

NN\
(1)

AN

(X




g80. frrfafaa aiffsear ww # g& ST A, B
TAT C B TN &

0]

NaHSO,, dil.HCI LiAIH,
H NaCN,HO A [B]

HCI/HO
A

[C

OSO,Na
A=
H
OH
B=
H

@)
]
%O
T

I
o

SOH

B= \/\/\OH ,
(3) HO s0,Cl
C=
\/\>< y

é}

HO COH

é}

following reaction sequence are:

O
\/\l)KH NaHSO,, di.LHCI [A] LiAIH,
NaCN,H,0
HCI/HO
A
OH CN
A= )
H
HO CHO
B= ,
H
(1)
HO CoH
C=
H
OSO,Na
A=
H
OH
B=
H

(@)
1
%g
T

SOH

w >
1] ]
T
é 4§<o
I
o}
T

3) HO soCl

é}

HO COH

é}

80. The structure of major products A, B and C in the

[B]

[Cl




81. for=7 ¥ 9 Al & =T WY gD ATATSIBTH
e 9 ¥ e-
0

QJKCH ©)k Y ES
)Of/,/\/ ON )Of/,/o\/,g\/m

81. Number of compounds give positive iodoform test
from the following is

)‘L

(1) 5 (1) 5
(2) 4 2 4
@) 3 @) 3
4) 6 4) 6

82. 60% WIS Jh BEIG ARTH & 0.01 Al HT | 82.
o ®U ¥ §1 HT W 4.4 g CO, ST BRMl 2 |
e &1 AR F=@AE g mol~1 H &

When 0.01 mol of an organic compound containing
60% carbon was burnt completely, 4.4 g of CO, was
produced. The molar mass of compound in g mol™!

(1) 150 is
4) 200 (3) 100
83. RNA ¥ Suferd R 960 &1 6= - & T8 ) 20
=1 ?JSﬁlﬂ T o N 83. Uracil is base present in RNA with the following
structure. % of N in uracil is
(0]
O
H
L ’
o LA
N o
" }
faar T &

HieR g™ N = 14 g mol~!; O = 16 g mol'; Given : Molar mass N =14 g mol~'; 0 = 16 g mol*;

C=12gmol-’; H=1g mol; C=12gmol~’; H=1 g mol™'

(1) 43 (1) 43
(2) 25 ) 25
Q) 4 (3) 4
“4) 29 4) 29

Maximum number of isomeric monochloro

84. VO HUEIAl AIFIFARI goa=Il Bl AfIHaA | g4,

T&IT garsy 9 FI=exeT g 2,2,5,5-
M vE 9 Ui fhar o7 gedar ® (BRrfem
THEIIGR™T B BISHN)
(1)

3 2 2
(3 4

4 5

derivatives which can be obtained from 2,2,5,5-
tetramethylhexane by chlorination is (excluding
stereo isomer)
(1 3
3) 4

2 2
@) 5




85.

86.

87.

88.

89.

90.

IfE HCl ot b g1 gof @l & dRa1s. oIl ©
o frw Sare &1 e g@ar @7

(1) FeCl, +H, (2) FeCly+H,

(3) Both1and?2 (4) Only FeCl,
Fgad ygfa &1 |8 B

(1) C>Si>Ge>Sn

(2) C>>Si>Ge = Sn

(3) Si>C>Sn>Ge

4) Ge>Sn>Si>C

T W B A gonfa 9 eERen ¥ fRaw
# 98 et 77

(1) He;

(2) H;

) H,

(4) Be,

(3) R

(4) STa TSI fHAT ST HahdT

IR A, <P R, WS forg v f=mw 2
(1) ty,%eg’

(2) ty,teq?

(3) ty,%eg?

(4) ty,O%g*

- 1 G-Il S 9 ghferd

g4i- | g- I
(A) [Ni(CI),]? (i) 5.92B.M.
(B) [Co(C,0,).IF (i) 1.73B.M.
(C) [FeF]* (i) 0B.M.
(D) [Mn(CN).J* (iv) 2.82B.M.

R I ATt § 98 SR gfe -

(1) A-(iv), (B)-iii), (C)- (i), (D)-(i)
(2)  A-(iv), (B)ii), (C)- (i), (D)-(i)
(3) A(iii), (B)-(iv), (C)- (i), (D)-(ii)
(4) A-(i), (B)-iii), (C)- (ii), (D)-(iv)

85.

86.

87.

88.

89.

90.

When HClI react's with finely powdered iron, which
of the following is produced?

(1) FeCl,+H, (2) FeCly+H,
(3) Both1and?2 (4) Only FeCl,
Correct order of catenation tendency :
(1) C>Si>Ge>85n

(2) C>>Si>Ge = Sn

(38) Si>C>Sn>Ge

(4) Ge>Sn>Si>C

Which among the following species does not exist
in normal condition?

(1) He;
(@) H;
(3 H;
(4) Be,

. +2
If color of [NI(HZO)G](aq) is green then what would

. +2
be the color of [Nl(en)J(aq) ?

1) Violet

2) Red

3) Orange

4) Can'tpredict

If Ay < P then correct configuration for d* would
be—

A~ S S~

(1) tyg’eg’
@) tzg4ego
(3) ty,%eg?
(4) tyOeg*
Match list- | with list-II

List- | List- Il
(A) [Ni(CI),I? (i) 5.92B.M.
(B) [Co(C,0,).]° (i) 1.73B.M.
(C) [FeF ] (iii) 0B.M.
(D) [Mn(CN)J* (iv) 2.82B.M.

Choose the correct answer from the options given
below:

(1) A-(iv), (B)iii), (C)- (i), (D)-(ii)
(2)  A-(iv), (B)iii), (C)- (ii), (D)-(i)
(3) Aiii), (B)-(iv), (C)- (i), (D)-(ii)
@) A-(i), (B)iii), (C)- (i), (D)-(iv)




TOPIC : FULLSYLLABUS

1.

92

93.

fr=fafeg § 9@ o9 6 YR &1 ART 2|
(A) ZFT

(B) GFT
(C) PTH

(D) GIP

(E) GIT

(1) AB,C

(2) AB,D

(3) AB

(4) AB,D,E

g & ¥ o Sae GadH ¥ wfye TEf R

frafafea < vo@ Ry W 2, @ afrsem

(A) ¥ 3R TEIT BRY (R) ¥ wldes @

BT (A) :

Sfcad dgh § CO,UTEN 39 RuBP &1 JRagHe fHuifads

BT & |

HRT (R) :

RuBP & 319Td # dfeas g d1fdd &1 Sfrar 2 |

SWITd FUAl & @S § Wl 999 B, -

fay Ty foopedl § @& SR g

(1) THI A 3IR R & 3R R, A T Ha! AR Hal
IRAT B |

2) A W8l § U] Rl 78l ©

(3) A WEI T8I § U] R¥I &

(4) SFI A 3R REEl & 3R R, A &I A&l e
AT 2 |

9.

92.

93.

Which of the following is a type of ART
(A) ZFT

(B) GIFT
(C) PTH
(D) GIP
(E) GIT
(1) AB,C
(2) AB,D

(3) AB

(4) AB,D,E

Which is not involved in tissue culture :
(A) Micropropagation

(B) Plasticity
(C) Annealing

(D) Stratification

(1) AB,C

(@ B,C

(3) B,C,D

4) A

Given below are two statements , one is labelled
as Assertion (A) and the otheris labelled as Reason
(R).

Assertion (A):

In calvin cycle regeneration of CO, acceptor molecule
RuBP is crucial.

Reason (R):

In absence of RuBP the calvin cycle becomes
interrupted.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(2) (A)is correct but (R) is not correct
(3) (A) is not correct but (R) is correct

(4) Both (A) and (R) are correct and (R) is the correct
explanation of (A)




94. WY

95.

96.

97.

YBR ® WBCs &I TIT X
a. YURIZTH

b. UTAECH

c. gglfthed

d. ferprageH

e. dAIBI

(1) daaid, e
(2) dae d
3) b, c, d

@) a, b, d

/g # ¥ o ogefat iR we I% B
™= HaNd Bl &

(1) emga-fifed s

2) o-BIENCIRS 7

(3) TP

(4) TRYSTZ BIUSTEH—T

a® ¥ pO, &k pCO, HHY: &R 2|

(1) 45 mmHg 3iR 40 mmHg

(2) 40 mmHg 3iR 45 mmHg

(3) 40 mmHg 3iR 40 mmHg

(4) 45 mmHg 31k 45 mmHg

Sufkera siaT 7|

RO, AT

(1) IR

() 9+

3) ur=

(4) =1

98. Hed IR 799 & fog WE fAdew &1 T BN

(A) THH BIgd

94,

95.

96.

97.

98.

Select the Agranulocyte type of WBCs
Erthyrocyte
Thrombocyte

S

Neutrophils

a o

Lymphocyte
e. Basophils
(1) Onlyd, e
(2) Only d

3) b,c,d
(4)a,b,d

Which is the connecting link between glycolysis
and Kreb's cycle :

(1) Iso-citric acid

(2) o-ketoglutaric acid

(3) Glucose

(4) Acetyl Co-A

In tissue pO2 and pCO2 are respectively :

(1) 45 mmHgand 40 mmHg
(2) 40 mmHgand 45 mmHg
(3) 40 mmHgand 40 mmHg
(4) 45 mmHgand 45 mmHg

Select the plants in which Axile placentation are
present.

China rose, Pea, Soyabean, Tomato, Mustard,
Lemon, Dianthus, Sunflower, Marigold:

Select the correct option for frog and human :
(A) Same phylum

B) Uricotelic

C) Sexual dimorphism

D) One pair testis and one pair ovary

E) Equal cranial nerves

1) ACD

2) A/B,C,D

3) OnlyA, D

(
(
(
(
(
(
(
4) A,C,D,E




99.

100.

101.

102.

HE ATOUAT BT TAT BN |

A. BEOR Agad Uil | fgdisos el
B. Wiiforet RRifd=m 1. Ried sied
C. fU=rdR wygad Uil 1.4

D. el IV. SRR 8

(1) A-lll, B-l, C-Il, D-IV
(2) A-lll, B-1V, C-II, D-l
(3) A-ll, B-I, C-lil, D-IV
4) A-l, B-1V, C-1, D-lI
TREBY @1 B |
(1) =IT HT GART TH
(2) T BT R
(3) et Iyt &1 wgE
4) Riftes gfesdt &1 g =M

B WA § {6 9U% $ad [(H YPR B
qameial | aikRefde fIkfrs o sads $as
BT ¥ WY &R W G Sl §

A. TIH U9 WR

B. fgdia dIvo W

C. TR Ul WiR

D. =g U WR

(1) A B

@ A

3) A, C,D

(4) IS TEl

=7 ey 1w = yerR @ fwRkaY 7 @
foas sEHme 9N

BIUT WA, &R, DR, qYHE, TISHIgS, AT,
T, Aot

(1) °R

(@ @

(3) d+

(4) dra

99.

100.

101.

102.

Select the correct match

A. Palmately I. Dicotleaves
compound leaves
B. Reticulate Il. Silk cotton

venation
C. Pinnately compound lll. Neem
leaves
D. Racemose
1) A-lll, B-l, C-ll, D-IV
2) A-lll, B-1V, C-lI, D-I
3) A-ll, B-l, C-lll, D-IV
4) A-lll, B-1V, C-1, D-lI

IV. Acropetal order

A~ S S~

What is ganglia

1) Other name of neuron

(

(2) Group of neuron

(3) Group of nissl's granules
(

4) Other name of synaptic knob

We know that slime moulds are a type of
saprophytes. In ecological pyramids slime moulds

are at placed at which trophic level
A. Firsttrophic level

B. Second trophic level

C. Third trophic level

D. Fourth trophic level

(1) A B

2 A

@) A CD

(4) None

In the given below example of different disease

how many are non infectious disease

Whooping cough, Leprosy, Cancer, Diabetes

mellitus, Typhoid, Pneumonia, Plague, Malaria
(1) Four
@) Two
(3) Three

(4) Five




103.

104.

105.

106.

ST @ UBHET B
(1) TSANATT BT FIATT
(2) UIEIF BT HIATT

(3) DNA BT HZeIgoT

(4) RNA & HZeAyor

frafafga § 9 o9 W@ ageuar sia fafdean
@ ol ¥ 9 ®

(1) 3 — 28,000 STl
) difces — 30,000 STt
(3) sifkfds — 50,000 SRt
(4) ¥ — 12,000 STl

ggoii demvfy # 959 WR o9 wnfae €
AT <IaT T B JARRY 98aR SQATERTT 2 |
foy W wierny & iy s S|y 1
TIT WX

HEE TR @9 I, WeAAS @9 6, Sedn
@ T

(1) AaBbCc, AABBCC, aabbcc

(2) AABBCC, AaBbCc, aabbcc

(3) AABDCc, aabbcc, AaBbCc

(4) aabbcc, AaBbCc, AABBCC

e AR BT TIT BN

A. TGeeR faforer & 1. gwifdar

JTHR BT a1
B. YA =1 Il. SFd<
C. qffrra s Il 3T
D. JaR™ IS V. T

(1) A-l,B-Il, C-lil, D-IV
(2) A-IV,B-lll, C-l, DI
(3) A-IV, B-II, C-Il, Dl

4) A-l,B-IVv, C-II, DAl

103.

104.

105.

106.

The process of translation is
(1) Ribosome synthesis

(2) Protein synthesis

(3) DNA synthesis

(4) RNA synthesis

Which one of the following is the correct match

with reference to biodiversity:

(1) Fishes — 28,000 species
(2) Beetles — 30,000 species
(3) Orchids — 50,000 species
(4) Ants — 12,000 species
In polygenic inheritance many genes are involved.

Human skin colour inheritance are good example.
Select the correct genotype for given phenotype

respectively

Darkest skin colour, intermediate skin colour,

lightest skin colour

(1) AaBbCc, AABBCC, aabbcc
(2) AABBCC, AaBbCc, aabbcc
(3) AABDbCc, aabbcc, AaBbCc

(4) aabbcc, AaBbCc, AABBCC

Select the correct match

A. Fleshy cylindrical I. Euphorbia
stem

B. Undergroundstem Il. Zaminkand

C. Undergroundroot  Ill. Carrot

D. Stilt root IV. Maize

(1) A-l,B-Il, C-lil, D-IV
(2) A-Iv,B-lll, C-l, D-l
(3) A-IV, B-II, C-l, Dl

4) A-1,B-1V, C-lI, DAl




107. TS BAT BT TIT BN

a. PICHA, eI Hag-l a4 & @G qAT I
P foparert § o wnfae 2

b. TfgTTel WYL §RT 98d SATRT AMAT H UgIol 1

WSS GBI W) ¥ig 81dr 2 |
c. Sl BIeidaivs dlaiglgse & U= § I

B & | MSIhIeddive hEdrd |

d. BN IR § YA O & 3 9N R Udh
SN rftrgae ferdt Rera grcl 2|

(1) ®ad a, ¢

(2 a, c,d

(3) ®adla

4) a,b, c

108. AT TTHUAT BT AT BN

(1) CCK —  JTERT R BRI BT

(2) CCK - QWWWW

(3) T - IREe af R B
HRAT

@) e — Il SRR UR
B HRAT © 3R
g=gfoT 3IR TSI
% AT Bl ST
HRAT

109. fHa rgHUaT | T |

(@) CNS - H®SUS

(b) PNS — PIS dATADT T
(c) PNS — IR Af®T aH
(d) Igd df=dr - AR dede
(1) O+

(2) TR

(3) Th

() <1

107. Select the correct statement

a.

Cortisol is also involved in maintaining the cardio-

vascular system as well as the kidney function

Large amounts of androgenic steroids are also

secreted by the adrenal medulla

The corticoids which are involved in carbohydrate

metabolism are called gonadocorticoids

Our body has one pair of adrenal glands, one at

the anterior part of each gall bladder

(1) Only a, ¢

(2 a, c,d

(3) Only a

4) a,b, c

108. Select the incorrect match

(1) CCK — Acton pancreas

(2) CCK — Acton gall bladder
(3) Gastrin — Act on gastric gland
(4) Secretin — Actonendocrine

pancreas and stimulate
secretion of insulin and

glucagon

109. How many matching are correct

(@) CNS — Spinal cord
(b) PNS — Somatic Neural System
(c) PNS — Visceral Nervous System

(d) Multipolar

Cerebral cortex

neuron

(1) Three

(2) Four

(3) One

4) Two




110. THH P STERU BT TIT BN 110. Select the example of locomotion

a. cgoldl a. Walking
b. e b. Running
c. 3@l &1 Fae c. Movement of eyes
d. S &1 Fdel d. Movement of tongue
e. Dol e. Climbing
(1) a,b, e (1) a, b, e
(2) a,b, c,e (2) a,b, c,e
(3) a,b,d, e (3) a,b,d, e
(4) dacta, b (4) Onlya, b
M. Z A9 F e UE T 9IT B¥: 111. In Z scheme select the e~ acceptor
a. WRIBTSeH a. Phaeophytin
b. 3MRRT HAHI WS b. Iron sulphur protein
c. TSN c. Adenosine
d. CTSUTHIEH d. Tripalmitin
(1) a,b (1) a,b
(2) a,b, c 2) a, b, c
(3) a,b,d 3) a, b, d
(4) dacia (4) Only a
112. f5q afas &1 FEior v S gagfad 99ed | 112, The complex formed by pair of synapsed
‘I“I'\‘?ﬁ ERI 8AT 8, S _ ®&d Bl homologous chromosomes iscalleda_
fo arg ¥ Reg @I &f W Fill in the blank in given sentence
(1) 'ﬂqﬁ*{ AT TIh (1) Bivalentor tetrad
) PBITHT (2) Chaismata
@3) FRIRTHT (3) Syncytium
@) GAIEIEA Tc'é’f (4) Cellplate
13, 9= ITEUT BT T @Y 113. Select the correct match
) AR S tl:cl‘i’cl'\fQJTII (1 fg/:q&::l);c))(nemal — Prophase I
(2) fafr - WQH I (2) Crossingover — Prophase I
(3) WHOIT YURIA DT — YRATIRAT | (8) Separation of — Anaphasel
gorp ST homologous
chromosome
(@) Reprfierert SERAEIEARLE (4) Recombination — Anaphasel

Arsget Nodules




114.

115.

116.

117.

118.

T, Qe iR Uad ©

Jfgeiyd, gwiifaar, v, faqes, wyfed,
wfaarar, SR, adferar, dseRT,
(19

2 6

3) 8

@7

UISY g BT T99 N Wife favademe @
(1) ST, AT, Rietfoeer

) Rrafren, Aredif=an, Ased

3) T, RieifSrren, aus daw

(4) WIARET, TYHE, BremH

Aved o fgdey wa A RRyy, rryy, rrYy &I
B T % 2|

(1) 6.25%, 6.25%, 25%

2) 12.5% , 6.25%, 25%

(3) 6.25%, 12.5%, 25%

(4) 6.25%, 6.25%, 12.5%

ASA B WAN & oIy Teaid SJwual &1 o3+
N

(1) RrYY - Gl gRITR
2) rrYy - Gl gRITR
(3) Tt - T Ul
@) tt - ClIRIC]]

frfaRag €1 doq iy W 2, o aifeed
(A) 3 IR T BRY (R) | <des &

BT (A) :
TGN & QIRTF A HIGT § B 8 U I SITaT
b /3T A Gifad g 2 |

®NRT (R) :

=g 7T § Rt 89 il & A1 81 a1l
= afer 3 € grfag g 21

SR HUA & AAld § Fal Thd- N, -

ey Ty R § ¥ Sar g

(1) ST A 3R R 2! T 3R R, A &7 W&l AR el
AT 2 |

) A 98l & W RYe! -Tel @

(3) A W8l el & U R98l ®

4) TFT A 3R RESI & 3R R, A & |8 Re
AT 2 |

114.

115.

116.

117.

118.

Select the animal in which central nervous system
is Dorsal, Hollow and single

Octopus, Aplysia, Apis, Limulus, Pheretima,
Fasciola, Ctenoplana, Obelia, Panthera, Parrot,
Cobra, Flying fish, Saw fish, Salpa

(19

(2) 6

3) 8

4) 7

Select the plant group which is heterosporous
(1) Sphagnum, Salvinia, Selaginella

(2) Selaginella, Salvinia, Cycas

(3) Salvinia, Selaginella, Slime moulds

(4) Funaria, Fucus, Ficus

In mendel Dihybrid cross what is % of RRyy, rryy,
rrYy respectively

(1) 6.25%, 6.25%, 25%

(2) 12.5%,6.25%, 25%

(3) 6.25%, 12.5%, 25%

(4) 6.25%, 6.25%, 12.5%

Select the incorrect match for mendel experiment
(1) RrYY - Yellow wrinkled

(2) rrYy - Yellow wrinkled

3) Tt - Tall plant

4) tt - Dwarf plant

Given below are two statements , one is labelled

as Assertion (A) and the other is labelled as Reason
(R).

Assertion (A):

During pregnancy in human female some hormones are
secreted by more than one tissue/organ.

Reason (R):

In human female the relaxin hormone are secreted from
placenta as well as mammary gland.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

S

(A) is correct but (R) is not correct

—
w
=

(A) is not correct but (R) is correct

E

Both (A) and (R) are correct and (R) is the correct
explanation of (A)




119. f6g®d Sge™ # d9cq RN Rl 2

(A) ATSTHIISIH
(B) W=l

(C)

(D) 3TeexARAT
(E) qrgTd

(1) AB,C

() B.C

(3) B,C,E

4) B,C,D,E

120. & ITEUAT BT T Y

A. TATSHIGH
B. Wdlial

C. drefes
D. VIgdo
(1) A-l, B-ll, C-lIl, D-IV
(2) A-ll, B, C-IV, D-lll
(3) A-ll, B-I, C-lll, D-IV
@) A-IV, B-Il, C-IIl, D-I

121. IR W o & oy 98 Aoy &1 @7 BN

IV.

qTgy HIRTHT A
NGRS

RNA

o A2
NGRS EAES]

N
A B C
D E F
Bl Nig

() Tpferft oivg - 3
() I Hell — 2
() TER ST — 4
(V) PRHETE G dqrel o] — 1
Ay L
@) 11,11,V
@) 1,1V

@) daalll

119. Vessels are present in the xylem of :

120.

121.

(A) Plasmodium
(B) Mustard

(C) Brinjal

(D) Alternaria

(E) Pinus

(1) AB,C

(2) B,C

(3) B,C,E

4) B,C,D,E

Select the correct match

A. Glycogen I.  Plant cell wall

B. Cellulose Il. Branched chain
polysachharide

C. Chitin . RNA

D. Ribose IV. Complex
polysaccharide

(1) A-l, B-ll, C-lll, D-IV
(2) A-ll, B-1, C-1V, D-llI
(3) A-ll, B-I, C-llI, D-IV
4) A-Iv,B-Il, C-lll, D-I
Select the correct option for the given diagram

/ .,

0

() Unisexual animal — 3
() Truefish — 2
() Coelomate animal — 4

1

)

Total animal

(IV) Vertebral column bearing animal —
(1 L

2) 1,m, v

(3) 1L Iv

4) Only




122

123.

124,

AF-ofecd @ fou 8 woF &1 W B

(a) UlERI H 9 BT BHS! H JSHR AT B oy
YRS BIAT T |

b) Whed Vg # IuRerd g 2|

c) epTeeT H UEIRMT UfRr Soft 3T BT § |

d) TRT A9l § ool AT = SURYd &

e) FahIgH RIbhalldprser guia: Tqal © |

1) a,b,ce

2) c,d

3) cde

4) |+

Jofaifcs I & fay |9 f@en &1
TIT PN

(
(
(
(
(
(
(
(

fr=fafea <1 wem Ry v 8, o ifreee

(A) ¥ IR T BRY (R) I <des &

BT (A) :

TISTARTH H URITHUT I ST Al Bl de H 9ga

Sorer fafderart o S €1

BRI (R) :

E{B IS O G T T8 H, IRNETHT I SitaT

&THAT 95 STeal o 30 fAve # €1 @ < 2 | Safd

RIGRT, STGHIART oI A=l e |o dawi 3

TRITHUN B ST &HcT FEHl ddb g1 I8 ¢ |

SWRIFd HUF S ATAG § FE T W, A9

fay Ty foopedl § @& SR g

(1) ST A 3R R8I § 3R R, A &I HEl ARA T8
BT & |

2) A W8l & U] R¥al 78l B

(3) A W8l 7Tgl & U] R¥I &

@) T A 3R RS § 3R R, A @ W& R
HRAT B |

122

123.

124,

Select the correct statements for Non-chordates:

(@) In birds air sac connected to lungs supplement
respiration

(b) Scales are presentin reptilia

(c) In Hemichordata Excretory organ is proboscis
gland

(d) In starfish water vascular system is present.

(e) Sub phylum cephalochordata are exclusively

marine
(1) a,b,c.e
) cd

(3) cde
@) All

Select the correct option for Eukaryotic cell:

(@) Chromatophore

(b) Mesosome

(c) DNA

(d) RNA

() Endomembrane system

(1) a,b,c

(2) c,d, e

(3) b,c,d

@4) ae
Given below are two statements , one is labelled
as Assertion (A) and the other is labelled as Reason
(R).
Assertion (A):
In angiosperm the viability period of pollen grain is highly
variable.
Reason (R):

In some cereals such as rice and wheat, pollen grains
lose viability within 30 minutes of their release and in
some members of Rosaceae, Leguminoseae and
Solanaceae, They maintain viability for months.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

@)
3)
@)

(A) is correct but (R) is not correct
(A) is not correct but (R) is correct

Both (A) and (R) are correct and (R) is the correct
explanation of (A)




125.

126.

127.

128.

fr=fafaa <1 s Ry v 2, s siffsem

(A) ¥ IR T BRY (R) I <ldes &

BT (A) :

AIGT A H AUSTIT & SR G gl faror

I BT © |

®NRT (R) :

JUSTAA & SR Yo IR fa9oH & a5 U

IS TArTS fgeiiad arved iR U BieT YoM gar

BRI 9T 2 |

SRIFT FUFE & AAld H Fal 999 N, -

i Ty fwedl ¥ ¥ SR g+

(1) ST A 3R R8T € 3R R, A &I HEl ARAT T8
BT 2 |

2) A W8l © U] R 78l B

(3) A W8l el § U] R98l ®

(4) T A 3R R 98! © 3R R. A & el e
BT 2 |

A1 &1 §&d Sadl & Sfadlgd Iaad 79

AT 8| G HH BT G BN

(1) AT — gH1 — TAMBIT — HUTRI - HdH

(2) HETEHT — HEIRRT - gHM®U — SHad — RRT

3) HEIRRI - RRT - FAM®Y - Hdd

(4)@%’*‘1’[—)3‘?%%’@—)?@8@—)%—)%@
— Hddh

ffafad & & a9 W W R AR AR

PG qHl A SURe &:

(@) TaT <fH

(b) T[T I

(c) WY 3

(@) =T

(€) T Sirer TR

(1) ®ad a,c,e

(

(

(

2) dad b,c, e

3) ®ad a,b,e

4) a,c,d, e

ATSATT GHRU § RS> d fAwata S @
$E ST '

(1) IgTeiled

PREIEIIR

(3) eclellbrs

(4) RS

125.

126.

127.

128.

Given below are two statements , one is labelled
as Assertion (A) and the other is labelled as Reason
(R).

Assertion (A):

In human female during oogenesis the first meiotic
division are unequal.

Reason (R):

During oogenesis after first meiotic division a large

haploid secondary oocyte and a tiny first polar body
are formed.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(2)
©)
@)

(A) is correct but (R) is not correct
(A) is not correct but (R) is correct

Both (A) and (R) are correct and (R) is the correct
explanation of (A)

The human heart pumped oxygenated blood to
tissues. Select the correct sequence

(1) Aorta — Arteries — Arterioles — Capillaries —
Tissues

(2) Aorta — vena cava — Arterioles — Tissues —
Veins

(3) Vena cava — Vein — Arterioles — Tissue

(4) Aorta — Arterioles — Capillaries — Vein —
Arteries — Tissues

Which of the following structure are present in
male and female cockroach both:

a) Anal cerci
b) Anal style
c) Compound eye

d) Antennae

(

(

(

(

(e) Three pairs legs
(1) a,c,e only

(2) b,c, e only

(3) a,b,e only

(4) a,c,d, e

The contrasting pairs of factors in Mendelian
crosses are called:

(1) multiple alleles
(2) allelomorphs
(3) alloloci
(

4) paramorphs.




129.

130.

131.

132

fre voR @ THRges (A 7 smig )
*Iﬁ?b"[ NIEEEC RIS

(1) 3R

2) UoReERTE

(3) mferdt

(4) drsH

$IF -1- 7@ Wb fFaRPT BT A 8 b Siaq &

WR AP sHhTs A~ 7 3Fd T § WHEraRd
g3, gl o9 uap oY |

SAF-I-BTH! THY b Ig Al AT 1 81 17 fb
Sia &R SR TSl g5 A O @l H, DS
MfE I e B3N I8 Wl ST A (G o |

(1) ®2F 1R HIF 1| T 3T &

(2) T | 9 T olfhd HAT I A &

(3) P |3 T olfhd HU 1 9 &

(4) P 1R AT Il SHI I3 ©

= Q weH Ry v §

DT I

e gyl § $dd B W 3R B gy Refy
& ATAR BN 7 |

DT Il :

i UTgul § Hdd Dl G qer Refd & R W)
SHdH T A YHR BT 81l 2 |

SWRITd HUHT B Wew # W Ry 1w Awed #
H Haite SUYE SR B T/ DI ¢

(1) B | 3R B |l T Terd 8 |

(2) BUF | 8! & Afh B 1l T 7 |

(3) BU | T B <lfhT B || W& B |

(4) FH | 3R BT Il AT | E |

frafafad § 9 &9 @ WM WA BT SITERT
g

(1) 9o e

2) ST ABRI UTh

(3) IuUfa® e

(4) BT WIe

129.

130.

131.

In which type of contraceptive hormonal role are

not involved
(1) Implants

(2) Progestasert
(3) Pills

(4) Condom

Statement -I- Early greek thinkers thought units of life
called spores were transferred to different planets
including earth.

Statement-llI-For a long time it was also believed that
life comes out of decaying and rotting matter like straw,
mud etc. this was the theory of spontaneous genera-
tion.

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct
Given below are two statements
Statement I:

In flowering plant the structure and function of tissue

would also be dependent on location.
Statement Il :

In flowering plant on the basis of structure and location

of tissue, there are three types of tissue systems.

Choose the correct answer from the option given

below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement lis correct but Statement Il is incorrect
(3) Statement lis incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct

132. Which one of the following are In-situ conservation:

(1) Zoological parks
(2) Wild life safari parks
(3) Botanical garden

(4) Hot spot




133.

134.

135.

136.

RE® &R § I 99 & 915 S9 HH @I
Wi & el sfam] @ v |9 georsA
Jgd fHy W 9|

(1) A =T

(2) 9T 3R

(3) BICT 3R

(4) IAHIOIT Fw=T
UehTAINE BT Tqq9 BN
A. ATHE

B. ®ld+

C. T

D. fF&ifed

(1) DIAA, B

2 A B,D

@) B,C,D

4) DIAA, D

fr=fafea <1 wem Ry v 8, o ifreee

(A) ¥ 3R TEIT BRY (R) ¥ des 2

AMHU (A) : TH far fRAmwiferar & forg S =

gAl § B W T AT UT ©

HR (R) : RA®IeRT fofT—e= (X- &) 3rgwrdy

fade 21

SWRIFd AT @ §ad # - iy v fawear o

H Hai0e SUYE SR B T/ DI ¢

(1) (A) |8l § W] (R) 9al el ©

) (A) 8! T8l § R (R)Fal ©

(3) JMI (A) 3R (R) W2l & 3R (R), (A) Bl Al AR
BT B |

4) T (A) 3R (R) 98I ® 3R (R), (A) &I &8I

IR 8l T ¢ |
Jofew § fFae gRT g9 gam f& DNA
wfagfoas el wagfr &1 =ar 2
(1) &Y iR =9
2) Afderars 3R Aapret
(3) A 3R il

4) TR IR 3H FEAN

133.

134.

135.

136.

In the nomenclature of RE who indicate the
order in which the enzymes were isolated from

that strain of bacteria
(1) Roman number
(2) Capital letter

(3) Small letter

(4) Arithmetic number
Select the alkaloids
A. Morphine

B. Cocaine

C. Alanine

D. Nicotine

OnlyA, B

A B,D

B,C,D

(4)

Given below are two statements: One is labelled

OnlyA, D

asAssertion (A) and the other is labelled as Reason
(R)

Assertion(A): A father will never pass the gene for
haemophilia to his sons

Reason (R) : Haemophilia is sex-linked (X-linked)
recessive traits.

In the light of the above statements, choose the
correct answer from the options given below :

(1) (A)is correct but R is not correct
(2) (A)is not correct but (R) is correct

(3) Both (A) and (R) are correct (R) is the correct
explanation of (A)

(4) Both (A)and (R)are correctbut (R) is not the correct
explanation of (A)

DNA replication is semi-conservative in nature was

experimentally proved in eukaryotes by: :
(1) Hersheyand Chase

(2) Macleod and McCarty

(3) Meselson and Stahl

(4) Talyor and his colleagues
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138.

139.

140.

gfeaal # dcplal = B g8 B B fow B
a1 gEE URa wRar 2

(1) wTgcreprg

2) Rrerfer

3) TS 3

(4) 3T

fr=fafea 4 @ @19 999 @ Swdd
yefdfd &xar |

(1) TelTgH T

(2) SR ot

(3) SiTgetd dg

(4) THCRPTSHT

IJURE & uged & g d FfaRag & 9
P TE T8 R

(@) HH TTIHI TS Bl A © |

b) T 3R FH ITATaReT UfhaT BT AHAH HRT ® |

c) UfhaT ERER Bl 7 |

d) I8 9 § TR UIEH SR PlefEsse 9 TR © |

e) 3TURT HADIY 3R SATER T=ATgH & §RT A
rprefd gerel H gafed 8 far 2 |

3 fer v faweui # @ W SR A

1) ®ad (b) 3R (c)

2) ®ad (c) (a) 3R (d)

3) ®ad (c) 3iR (d)

4) ®ad (c) (d)3iR (e

ﬁw%r%lﬁaﬁzﬁamﬁqwﬁ,weﬁﬁiﬁam
(A) ¥ 3R I BRI (R) ¥ <ldes &

AMFAT (A) : R &1 R R
aftas & faged 3N X & 3R B AT BIUSHT]
% fHor & gRT ygaT Sl 2 |

BRI (R) : HF HUSD ORI & AvsHl H fguce

HET AT 99T 91 FHI BN B |

SR HUF P Ielld § Fal adq &N, -

fag Ty fagpeni & W Sax gA

(1) (A) |8l § W] (R)9al T8l ©

2) (A) |8 &1 8 g (R)Wel ©

(3) THI (A) 3R (R)FE! & 3R (R), (A) DI Fal AR
PRAT B |

(4) T (A) 3R (R) ¥E B 3R (R), (A)

AT 8T BT 2 |

(
(
(
(

(
(
(
(

BT Hel

137.

138.

139.

140.

Which hormone is used to induce immediate

stomatal closure in leveas :
(1) Cytokinin
(2) Gibberelline
(3) Abscisic Acid
(4) Auxin
Which of the following exhibits the highest rate
of respiration ?
(1) Phloem fibre
(2) Germinating seed
(3) Xylem fibre
(4) Sclerenchyma

Which of the following are not correct regarding
decomposition of wastes

(a)
(b)

Low temperature inhibits decomposition

Warm and moist environment favours the
process

()
(d)

The process is anaerobic

It is slower if detritus is rich in proteins and
carbohydrates

(e)

Detritus is degraded into simpler inorganic
substance by fungal and bacterial enzymes

Choose the correct answer from the options given
below:

(1) (b)and (c) only

(2) (c)(a)and (d)only

(3) (c)and (d) only

(4) (c)(d)and (e)only

Given below are two statements: One is labelled

as Assertion (A) and the other is labelled as Reason
(R).

Assertion (A): The beginning of diplotene is recognised
by the dissolution of the synaptonemal complex and
formation of X shaped structures called chiasmata

Reason(R): In oocytes of some vertebrates, diplotene
can last for months or years.

In the light of the above statements, choose the
correct answer from the options given below:

(1)
@)
(3)

(A) is correct but (R) is not correct
(A) is not correct but (R) is correct

Both (A) and (R) are correct and (R) is the correct
explanation of (A)

Both (A) and (R) are correct but (R) is not the the
correct explanation of (A)

)
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142,

143.

144,

frafafea <F #o@ iy g €, 1@ affseN
(A) ¥ 3R TEIT BRY (R) ¥ wldes @

AMB (A) : FEReN U &1 yriiie wa
A YA 92 W 3IR el ¥eidl (1958) &
ERT B3l oI |

PR (R) : T 3R Wil 9 N fSarafeha
FARIS R HRI BIcd TFUTT A Hi e dheitds
B ITINT fHar

SWRIFT HUE S Mclld H T8l a99 N, -
fag Ty fagpeni & W Sax gA

(1) (A) |8l § W] (R) 9al &1 ©

2) (A) |8 &1 8 g (R)Wel ©

(3) T (A) 3R (R) T & 3R (R), (A) B! T8I RAT
BT B |

4) T (A) 3R (R) 98I ® 3R (R), (A) &I &8I

T 8] HRaT © |
S9d WSS DNAD Tdh wows ¥ 9 gued &

15% A, 15% T, 40%G 3R 30% C TP & H 3
Rl &1 wr yfowa g 2

(1) 15% A, 15% T, 30% G , 40% C

2) 15% A, 30% T, 40% G , 15% C
(3) 15%A, 15% T, 40% G , 30% C
4) 15%A, 40% T, 15% G , 30% C

e g5 WM &1 fauvH ¥ uge gUamRor
IR gHwr & ufhar wEaTh @

(1) IIATE THDRT

(2) STRYTRYEENT

(3) UTASHUTGT THAEHR

(4) SO YRRBROT

frafafea § @ @9 91 s@fA g SEuor
yfiad iR wied S&ver yfuad 91 @ fog
iR B2

(1) TEEIo

2) Ui

3) it

(4) Retai=

141.

142,

143.

144,

Given below are two statements: One is labelled
asAssertion (A) and the other is labelled as Reason
(R)

Assertion (A): Semiconservative replication was
experimentally proved by Mathew Meselson and Franklin
Stahl (1958)

Reason(R): Meselson and Stahl used radioactive isotope
N and equilibrium density gradient centrifugation
technique.

In the light of the above statements, choosethe

correct answer from the options given below :
(1)
2
3)

(A) is correct but (R) is not correct
(A) is not correct but (R) is correct

Both (A) and (R) are correct and (R) is the correct
explanation of (A)

(4) Both (A)and (R)are correctbut (R) is not the correct

explanation od (A)

One of the strands of double stranded DNA has
base composition as follows: 15% A, 15% T, 40%G
and 30%C. What will be the percentage of these
bases in the complementary strand ?

(1) 15% A, 15% T, 30% G , 40% C
2) 15% A, 30% T, 40% G , 15% C
(3) 15% A, 15% T, 40% G , 30% C
4) 15%A, 40% T, 15% G, 30% C

The process of separation and purification of
expressed protein before marketing is called:

(1) downstream processing
(2) bioprocessing

(3) postproduction processing
(4) upstream processing

Which of the following hormones is responsible
for both the milk ejection reflex and the foetal

ejection reflex?
(1) Estrogen
(2) Prolactin
(3) Oxytocin

(4) Relaxin




145, JiRgforar #§ ARG R oTRT wWHar §gd

146.

147.

A w9F dEi B W e o foy el
g% 2| 9 YOR &1 oM f&a wu & 9 o
GEGIE

(1) ergaet fafavor

2) TR AP

(3) THII fAdra

@) T I

B - | B Pl - I S AT FAfTd B
et - | it - I

(@) XX-XOfefir fuiRor () eRRSM
3 fafer

(b) XX-XY foiiT fgiRer (i) AraT fawm grwat
3 fafey

(c) HRACISY - 45 (iii) 9T BMUR

(d) ZW-zZ T FeiRer  (iv) 7R faws et
3 fafer

fR N ool ¥ 4 98 SR &1 I9d Y
(1) (a)-(ii), (b)- (iv), (c)- (i), (d)-(iii)
(2) (a)- (i), (b)-(iv), (c)- (ii), (d)-(iii)

(3) (a)-(iii), (b)-(iv), (c)- (i), (d)~(ii)
@) (a)-(iv), (b)- (i), (c)- (i), (d)-(iii
frefafea v=arss &1 39 S P 9rel
gHfera &
HIeTH-1 Bied-l
(a) fcre== () DNA TSI Bl
QUSIIFATTS SiredT ©
OREEIFCEING (if) ST+ DNA
RIER TR IR
B YR BT
(c) DNA TTEIS (iii) T fafdre wore wR
DNA &1 dredl &
(d) <P UTeiRST (iv) DNA D fHaRT &
B EERISIEEE]
Bl Il ©

fR N ool ¥ 4 98 SR &1 I99 v

(1) (a)-(iii), (b)- (i), (c)- (iv), (d)-(ii)
(2) (a)-(iii), (b)-(iv), (c)- (i), (d)-(ii)
(3) (a)-(iv), (b)-(iii), (c)- (i), (d)-(ii)
@) (a)- (i), (b)- (iv), (c)- (i), (d)-iii)

145,

146.

147.

In Australia, marsupials and placental mammals
have evolved to share many similar characteristics.

This type of evolution may be referred to as -

(1) Adaptive Radiation

(2) Divergent Evolution

(3) Cyclical Evolution

(4) Convergent Evolution

Match the items of Column - | with Column -1I :
Column- Column-

(@) XX-XOmethod

of sex determination

(b) XX-XY method of

sex Determination

() Turner's syndrome

(i) Female heterogametic

(c) Karyotype-45
(d) ZW-ZZ method of

Sex Determination

(iii) Grasshopper

(iv) Male homogametic

Select the correct option from the following:
(1) (@)- (i), (b)-(iv), (c)- (i), (d)-(iii)
2 (a)- (i), (b)-(iv), (c)- (i), (d)-(iii)

3) (a)-(iii), (b)- (iv), (c)- (i), (d)-(ii)
4) (a)-(iv), (b)- (i), (c)- (i), (d)-(iii
Match the following enzymes with their functions:
Column- Column-
(@) Restriction (i) joins the DNA
endonuclease fragments
(b) Exonuclease (i) extends primers on
genomic DNA template
(c) DNAligase (iii) cuts DNA at specific
position
(d) Taq polymerase (iv) removes nucleotides
from the ends of DNA

Select the correct option from the following:
(1) (a)-(iii), (b)- (i), (c)- (iv), (d)-(ii)
(@) (a)-(iii), (b)-(iv), (c)- (i), (d)-(ii)
(3) (a)-(iv), (b)- (iii), (c)- (i), (d)-(ii)
4) (a)-(ii), (b)-(iv), (c)- (i), (d)-(iii)




148. RNA Ufei"RSl &1 9@ Iifad Swm&l & T
gﬁﬁﬁaﬁ:

BicTA-| DicrH-1l
(@) RNA UTeiFReT | (i) tRNA
(b) RNA TGRS I (i) rRNA
(c) RNA Ui R I (iii) hnRNA

R W™ fapedi 4 9 98 SR & TGT BN
(1) (@)-(i), (b)-(iii), (c)-(ii)

2) (a)-(i), (b)-(ii), (c)-(iii)

3) (@)-(ii), (b)-(iii), (c)~(i)

(@) (a)-(iii), (b)-(ii), (c)-(i)

U6 Sfd & U J99€d] (e 98 &7 W

AT Bl 2| FEfaRag & @ +iq A
JavRdl e fafevor @ emrardt gRf

(1) SUTST =T & IR & AR &5 54 9ga
HH Ao o Yfel Bl 2 |

(2) TH TUhd UHR B el IR arell &3
(3) 98T UPR & el IIERAT dTal &

4) TPH I W= B AT §RT VG 987 AN
IR dTeT &

149.

150. f=iforRea aferl & wfaa siRerl & @
gHfea &%
CAGLE! Bied-l

(@) faadt afr (i) P9 3R IS &
Aerpid & 19

(b) TeoTT AT (ii) Teers 3R ufhas &
4=

(c) gRTU Afe (i) P & 9

(d) st afr (iv) TLRH 31
AT & dI

R T fApeat § @ 98 SR @1 I8 BN
(1) (a)iii), (b)-(iv), (c)-(ii), (d)-(i)

(2) (a)(iv), (b)-(i), (c)-(ii), (d)-(iii)

(3) (@)(iv), (b(=(i), (c)-(ii), (d)-(i)

@) (a)(i), (b)-(iii), (c)-(ii), (d)-(iv)

frefalRea § @ Taa doF &1 T BN

(1) DIERME HH AIeTeMerdm AR SATaT RSeged &
AT ARAF gfte aT 7|

2) % AISH P IAMHR P U IR Biosd b
6th-7thSeia @uei # SuRerd ¥ |

(3) TP SIIS! YEHUTRHI AGT HIdRId H 6th WIS H
SaRerd g |

(4) HATGT BB YD JUSTIT H 16 VST AAfeThl
T 2 |

151.

148. Match the following RNA polymerases with their
transcribed products:

Column- Column-
(@) RNA polymerase | (i) tRNA
(b) RNA polymerase | (i) rRNA
(c) RNApolymerase llI (i) hnRNA

Select the correct option from the following:
(1) (@)-(i), (b)-(iii), (c)-(ii)
2 (@)-(i), (b)-(ii), (c)-(iii)
(3) (a)(ii), (b)-(ii), (c)-(i)
(4) (a)-(iii), (b)-(ii), (c)-(i)
149. A population of a species invades a new area.

Which of the following condition will lead to
Adaptive Radiation?

(1) Areawithlarge number of habitats having very low
food supply.

(2) Area with a single type of vacant habitat
(3) Area with many types of vacant habitats.

(4) Area with many habitats occupied by a large
number of species.

150. Match the following joints with the bones involved:
Column- Column-
(@) Gliding joint (i) Between carpal and

metacarpal of thumb

(b) Hinge joint (ii) Between Atlas and
Axis

(c) Pivot joint (i) Between the Carpals

(d) Saddle joint (iv) Between Humerus

and Ulna
Select the correct option from the following:
(1) (@)-(iii), (b)~(iv), (c)-(ii), (d)-(i)
2) (@)-(iv), (b)-(i), (c)-(ii), (d)-(iii)
(3) (@)-(iv), (b(-(ii), (c)-iii), (d)-(i)
4) (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv)
151. Which of the following statements is INCORRECT

(1) Cockroaches exhibit mosaic vision with less
sensitivity and more resolution

(2) A mushroom-shaped gland is present in the 6th-
7th abdominal segments of male cockroach

(3) Apairof spermathecais present in the 6th segment
of female cockroach

(4) Female cockroach possesses sixteen ovarioles in
each ovary




152.

153. T

154,

TE AT BT TAIT BN -

(1) Fzaas 989 IRIR[d U= & AHdd b
HIROT AT ST 2 |

(2) 31T: ¥aG- & SR SITUcHIRI &1 araraRofi
39 H ¥ BT © |

(3) JT:ITHT UTAT ST & SId qraraRveiiy g7
F=TUHANI 19 I HH BT 2 |

(4) F:2aqT B YHoTd SAMBM & Ao B BRI
Bl 2 |

JqHd P frfIRgd IR B 576 ™ D
| gHfera &

(@) Tl g @l (i) @I oTaul H g
ERTET oIl SENIEE]
(b) FHTORRI Harferd (i) dHaet g B g
Aferar CENIR]
(c) T U @I IRIET  (jii) AT T 3IR
T STel T ¥er
CENIE]

(d) SR Haferd AferdT  (v) =4, Ul 3R
HrAS dd qel
CaRGHICENILL|

1) (a)-(0), (b)-(iii), (c)-(ii), (d)-(iv)

2) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

3) (@)-(i), (b)-(iv), (c)-(ii), (d)~(iii)

4) (a)-(iv), (b)-(i),(c)-(iii), (d)(ii)

-l B Pl & TR FAfed By

(
(
(
(

BIeTH-1 BieTd-1l
(@) UeNTECH (i) forveeti sffaaele
(b) eI (RGIEISE]
(c) Twifear DR ACIERSES]
(d) R Berwarg (iv) Fregee=t fog

fR N ool ¥ 4 98 SR &1 I99 v

(1) (@)-(iii), (b )-(iv), (c)-(ii), (d)-(i)
(2) (@)-(iii), (b)-(ii), (c)-(iv), (d)-(i)
(3) (@)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
(4) (@)-(iv), (b)-(ii), (c)-(iii), (d)-(i)

152.

153.

154,

Select the correct statement.

(1) Expiration occurs due to contraction of external

intercostal muscles.

(2) Intrapulmonary pressure is lower than the
atmospheric pressure during inspiration.

(3) Inspiration occurs when atmospheric pressure is
less than intrapulmonary pressure.

(4) Expiration is initiated due to contraction of

diaphragm.
Match the following parts of a nephron with their
function:
(@) Descending (i) Reabsorption of salts

limb of Henle's loop only

(b) Proximal convoluted (ii) Reabsorption of
tubule water only
(c) Ascending limb of (iii) Conditional
Henle's loop reabsorption of
sodium ions and
water
(d) Distal convoluted (iv) Reabsorption of
tubule ions, water and
organic nutrients
(1) (@)-(0), (b)-(ii), (c)-ii), (d)-(iv)
(2) (@)(ii), (b)-(iv), (c)-(i), (d)-(iii)
3) (@)-(i), (b)-(iv), (c)-(ii), (d)-(iii)
4) (@)-(iv), (b)-(i).(c)-(iii), (d)-~(ii)
Match the items in Column - | with those in
Column -1l :
Column -1 Column - I
(@) Podocytes (i) Crystallised oxalate
(b) Protonephridia (ii) Annelids
() Nephridia (iii) Amphioxus
(d) Renal calculi (iv) Filtration slits

Select the correct option from the following:

(1) (@)(iii), (b )-(iv), (c)-(ii), (d)-(i)
(2) (@)-(iii), (b)-(ii), (c)-(iv), (d)-(i)
(3) (@)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
(4) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(7)
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frfafad & 9§ @19 ICBN & 3w & fowg 87

(1) BIfeRad I A1 ifded BT 1Y |

2) UAPH SIfT & 9N Ub G971 9H AR TH oI
Jbd g BT AR |

(3) dsif=e A ifeq # &R seaTgSs M IRy |

(4) 99 M iR S 7MW foee & fory gsena #
BIC 3ER U URY 8 =R |

& FAT BT TIT PN ?

(1) osa ugfia &= # gfg =18l =ar 2 |
(2) ATSHA BT AT TSH ASHIGANE Bl ¢ |

(3) AlSh hl Chclfr;\lu dcd Wigdh[dig~<Cc declldl
=

(4) TTSHT UGUUT HT 3BT YD Aadd ol o |

P | H Shal B Pl Il § IR & 91T
gHfea &%
e | e Il
(a) Belmicd () THSRA
(b) eHERIethex (i) STl aTTaRoT
(c) fagHo=T (iil) THT<H & Ue
(d) ARESEIRAT (v) <TaofiT e

& W™ o ¥ 9 98 SR & T B
(1) (@)-(iv), (b)-(i), (c)-(iii), (d)-(ii)

2) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)

(3) (a)iii), (b)-(iv), (c)-(i), (d)-(i)

(4) (a)-(ii). (b)-(iv), (c)-(iii), (d)-(i)

3fg &% @ ¥ &1 gIE IFUE Y |
IR FA & 95 fFad RO T &

(1) gredi favsaras

2) NY fav=as

3) 3r=deiy fawsadas®

@) feae frsards

B - | B Pl - I S AT FAfTd B

i - | it - I

(a) ol SYBRT () U BT HTeyor

(b) TTSAH (i) 3Mufdre IR Icqwil
STe! Bl BT B |

(c) &= (iii) TATSHIUET 3R
TATS DS BT
foretoT

(d) JTSEAH (iv) STa 3AULRAT BT UTeT

R T fApeat § @ 98 SR @1 99T BN
(1) (a)-(iii), (b)-(iv), (c)~(ii), (d)-(i)
2) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
(3) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)
@) (a)(i), (b)-(ii), (c)-(iv), (d)-(iii)

~ A~ o~ o~

155. Which of the following is against the rules of ICBN?

156.

157.

158.

159.

Hand written scientific names should be underlined.

(1)
(2) Everyspecies should have a generic name and a
specific epithet.

Scientific names are in Latin and should be italized.

(3)
)

Generic and specific names should be written
starting with small letters.

Select the correct statement ?
(1) Lichens do not grow in polluted areas.
(2) Algal component of lichens is called mycobiont

(3) Fungal component of lichens is called
phycobiont

(4) Lichens are not good pollution indicators.

Match the organisms in column | with habitats in

column Il.
Column|l Column Il

a) Halophiles i) Hotsprings

( (
(b) Thermoacidophiles (ii) Aquatic environment
( (

c) Methanogens i) Guts of ruminants
(d) Cyanobacteria (iv) Salty areas

Select the correct answer from the options given
below:

(1) (@)-(iv), (b)-(i), (c)(iii), (d)-(ii)

(2) (@)-(i), (b)-(ii), (c)-(iii), (d)-(iv)

3) (a)-(iii), (b)-(iv), (c)-(i), (d)-(i)

(4) (a)-(ii). (b)-(iv), (c)-(iii), (d)-(i)

Regeneration of damaged growing grass following
grazing is largely due to :

(1) Lateral meristem

(2) Apical meristem

(3) Intercalary meristem

(4) Secondary meristem

Match the column | with column Il.
Columnl Column i
(@) Golgi apparatus (i) Synthesis of protein

(b) Lysosomes (i) Trap waste and

excretory products
(iii) Formation of
glycoproteins

and glycolipids

(iv) Digestion of
biomolecules

(c) Vacuoles

(d) Ribosomes

Choose the right match from options given below:
(1) (@)(iii), (b)-(iv), (c)-(i), (d)-(i)
(2) (@)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
(3) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)
(4) (@)-(i), (b)-(ii), (c)-(iv), (d)-(iii)




160. Y€ WRIE B &SI U 950 SUGNT THd 2 |

161.
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163.

I B gl @ FEior B gem @ o ug
a1 fead dRuT

(1) RreRels qifec &1 Adpar g 3R ifharefia
HRAT B |

(2) 3ifaoie Uil & I el R R |
par &

(3) 3ifdoi BT Y¥Td WH 8 Sdl & 3R UL
Bferdl 93 STl ®

(4) RTeIRel=d ufcqdl @1 SIRTaReIT BT <X Bl 3

oS T & UBR (Rfdd-l) B 596 SIER0T

(Pfe™-ll) & I gAferd &

e | Carcu il
(a) JMERIA () =«
(b) &I (ii) IS8
(c) =i (iii) STU=erg
(d) FeeT FT (iv) FRoTr

fd T fApedl § 4 98 SR & T BN

(1) (@)-(ii), (b)-(iii),(c)-(iv), (d)-(})

2 (@)-(i), (b)-(ii), (c)-(iii), (d)-(iv)

3) (a)-(iv), (b)-(ii), (c)-(i), (d)-(ii)

4) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

Aee & fawa & fafafea & @ 9 @

$UF AT B2

(1) I IR & ST b fory SUANT fHT ST Havdl & |

2 A UY & T AR g At H U7 I 2|

(3) U IGAT TId A ghg PR © AR el |
TR Wi & ared 2 |

@) ¥ HeT A 1 v R E

W SATSIBRAYT B SN B DNA US|
B AT P D Y ¥ IR o A W R

Tod HAAT Bl A

(a) DNA 0T 3T 317] 2 iR gafory I8 oid
TR TS i & 3R WRT ST &

(b) DNA TS SicT &1 Aaig &l faem & gera ® | ey
<l DNA ® Gerel &l gaTfad =8} &ral

(c) BICT DNA TUE &7 JAMHR AIH | A&l ) ad
EaGIR

(d) Y€ DNA DI HIg & UV fafeRor | ydhe o )
ST ST bl &

& W™ fagar 4 ¥ W8 Sax B gH
(1) (a), (c) 3R (d) (2) (a), (b) 3R (c)
(3) (b), (c) 3R (d) (4) (a), (b) 3R (d)

(
(
(
(

a
a

160. Removal of shoot tips is a very useful technique to

161.

162.

163.

boost the production of tea- leaves. This is because
(1) Gibberellins prevent bolting and are inactivated.
(2) Auxins prevent leaf drop at early stages.

(3) Effect of auxins is removed and growth of lateral

buds is enhanced.

(4) Gibberellins delay senescence of leaves.

Match the placental types (column-l) with their
examples (column-Il)

Columnl Column i
(@) Basal (i) Mustard
(b) Axile (ii) Chinarose
(c) Parietal (iii) Dianthus
(d) Free central (iv) Sunflower

Choose the correct answer from the following
options:

(1) (@)-(i), (b)-(iii),(c)-(iv), (d)-(i)
() (@)-(0), (b)-(ii), (c)-(iii), (d)-(iv)
(3) (@)-(iv), (b)-(ii), (c)-(i), (d)-(iii)
@) (a)(ii), (b)-(iv), (c)-(i), (d)-(ii)

Which of the following statements about
methanogens is not correct?

(1) They can be used to produce biogas,

(2) They are found in the rumen of cattle and their
excreta.

(3) They grow aerobically and breakdown cellulose-
rich food.

(4) They produce methane gas.

Given below are four statements pertaining to
separation of DNA fragments using Gel
electrophoresis. Identify the incorrect statements.

(@) DNA is negatively charged molecule and so it is
loaded on gel towards the Anode terminal.

(b) DNA fragments travel along the surface of the gel
whose concentration does not affect movement of
DNA.

(c) Smallerthe size of DNA fragment, larger is the
distance it travels through it.

(d) Pure DNA can be visualized directly by exposing
to UV radiation.

Choose correct answer from the options given
below:

(1) (a),(c)and(d)
(3) (b),(c)and(d)

(2) (a), (b)and(c)
(4) (a), (b)and (d)




164. -1 B A S T GAfera = 164. Match List-l with List -II:

- GEIRL List-1 ListI
(@) TSIHIA (i) e (a) Adenine (i) Pigment
(b) TSI (ii) m;ﬁzﬁ@m (b) Anthocyanin (i) Polysaccharide
(©) Prgfe (iii) TedTedivs (c) Chitin (iii) Alkaloid
(d) B (iv) TR (d) Codeine (iv) Purine
(1) @Hiv), (b)), ()i}, ()i (1) @), (0}, (=i, ()i
2) (a)(iv), (b)ii), (c)—i), (d)—(i) (2) (@)r(iv), (b)), (c)(ii), (d)i)
(3) (a)i, (o)), (e)-(v), (@i ©) (@), (O30, (01-w). (@)
@) (a)=(i), (b)—(iv), (c)~iii), (d)(ii) (4) (@), (b}=(iv), (c)iii), (d)ii)
165. ﬁiﬁ:'l el a\—zﬁ_" & 9 '\jﬁlﬁfﬁ B 165. Match List-1 with List-Il :
-l GEIgl List-| List-ll
(a) 9fd= Sua+ () fa<eh Sy (a) Sacred groves (i) Alien species
(b) wifor Serm (ii) SaTeT A A (b) Zoological park (il) Release of large quantity
a‘icmﬂgd DI of oxygen
©) et - ::_i\;jm'ql—'\r S — (c) Nile perch (iii) Ex-situ conservation
d) e () ﬁ'El'l?PJ 3wl (d) Amazon forest (v) Khasi Hills in Meghalaya
BRI (1) (@(iv), (b)Gii), (c)=(i), (d)ii)
(1) (@)(iv), (b)Gii), (c)—(i), (d)ii) (@) (a)(ii), (b}(iv), (c)(i), (d)iii)
(2) (@), (b}(iv), (e}, ()i (3) (@(iv), (b)), ()i, ()i
(3) (a}-). (0. (e}, ()i @) (@), (o)), (i), ()
@ (a);;';’)’ (b)_("')_c’s(c)_(")’ (@0) = 166. Match List-| with List-Il :
106. a‘iﬁ;ﬁ | AL gj:":[ ' List| List I
jﬁ:{- i & NN (@) Genegun (i) Replacement of a faulty
@ A 0) ?Wwﬁﬁi - &N gene by a normal healthy
gRRemI gene
(b) S Rrfrear (i) < 3 TR & (b) Gene therapy (il) Used for transfer of gene
fore SwanT fhar Sar (c) Gene cloning (iii) Total DNA in the cells of
g an organism
(c) ST Felif (ii) Tep ST BT prrprar (d) Genome (iv) To obtain indentical
# B DNA copies of a particular
(d) S (iv) T T2 DNA 370] ot DNA molecule
o gfafearfd &1 ura

Choose the correct answer from the options given

gl below

R N fAecul § 9 UE) SR BT T BN

) (o1, o). O (i (1) (@)~(i), (D)), (i), ()i

(2) (@)(i), (b)), ()i, [d)v)
(@) (@120, O (e, (=) 3) (@)(v). (b)~(i), (e}, (d)~(i)
) (@, (B0 (oA, (A (@) (@), (b)iii), (c)~(iv), (d)~()
(4) (@)~(i), (b)), (c)(iv), (d)—i)




167.

168.

169.

WRRRYT URBerT & v A wEl sl

P USAN BN

(a) f3Teell & 3TaR &1 IR Tl & IfU[3H &l faaes
gfed BT 2 |

(b) UICH ATATHRITS & g+ & A=aR STHT BIT ¢ |

(C) SFST BT UANG UTED SIaeid BT AR
TP Sodeid dI8d Dl HRal © |

(d) Redest t=rsH fRreell & Ml BR R Rerd
gIaT @

(€) UIEH I H W § 9edr g |

R T fAeaa 4 9 98 SaR &1 WA BN
(1) (a), (b) 3R (e)

(2) (a), (b) 3R (d)

(3) (b), (c) 3R (d)

(4) (b), (c) 3R (e)

URSIET RS M & g AMd R @ fog
TGfId T & g9 9 UNe wU 9 SI&l
Hfed BT & Hife I8 I@dr ©

(1) 7199 UIEH a—1-TC oA

(2) HIFG TethT — oidcUeg A

(3) AME TgfT — Sivl gfg BR®

(4) AT TroTTeH QRN fSUHIIST (ADA)

= feg T e

DY -1:

ST 3%l @ URT —NH, 3R — COOH WHg &l
IR YHfcl T Yeb T[0T BT &, 3fch: =T pH W’
=T AREY g 2|

DY -1l :

T TP 3T 3TR &R pH TR dhael SdIeR 3R
@ w0 ¥ IR 3T B |

(1) T BAF | 3R BUT || FET 2 |
(2) TFT BUF | 3IR HAF |1 7TeAd 2 |
(3) HUF | e TR B I TTeAd B |
(4) BUF | T & IR HA || S 2 |

167.

168.

169.

Identify the correct statements regarding
chemiosmotic hypothesis :

(@) Splitting of the water molecule takes place on
the inner side of the membrane.

(b) Protons accumulate within the lumen of
the thylakoids.

(c) Primaryacceptor of electron transfers the electrons
to an electron carrier.

(d) NADP reductase enzyme is located on the
stroma side of the membrane.

(e) Protons increase in number in stroma.

Choose the correct answer from the options
givenbelow:

(1) (a). (b)and (e)
(2) (a), (b)and (d)
(3) (b), (c)and (d)

(4) (b),(c)and (e)

Milk of transgenic 'Cow Rosie' was nutritionally
more balanced product for human babies than

natural cow milk because it contained:
(1) Human protein o—1-antitrypsin

(2) Human alpha —lactalbumin

(3) Human insulin — like growth factor

(4) Human enzyme Adenosine Deaminase (ADA)

Given below are two statements:

Statement | : Amino acids have a property of ionizable
nature of -NH, and —COOH groups, hence have

different structures at different pH.

Statement Il : Aminoacids can exist as only Zwitter

ionic form at acidic and basic pH.

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are Incorrect
(3) Statement|is correct but Statement Il is incorrect

(4) Statementlis incorrect but Statement Il is correct




170. BfHE & M & T<d § G-l B @l 4@
gHfera & :
-l GEIE

(@) U (i) 9IS @ BN B
YT

ORIEREEASE] (i) UTI® T BT AT

(c) fRufes frar (iii) TS LTS U B
s

(d) FTNRTIT Aferdr  (iv) I &1 FU8T

171.

172.

173.

A I faped § F 98 SR & T BN
(1) @(iv), (b)), (c)—ii), (d)iii)
(2) (@)iii), (p)ii), (c)—(i), (d)iv)
(3) (@), (b)=(iv), (c)=(i), (d)iii)
@) (@), (b)~(iv), (c)iii), (d)ii)
-l B GEHI D W gafed B
-l GEIRL
(a) BIRTBT Iy ) FERHR
(b) WATgSIBIgT e (i) RID
(c) IRIR® ey iii) IS Ie™
(d) BB A iv) STaR ¥ H HC
A I faped § F 98 SR &1 YT BN

)
)

(
(
(
(

@ ©) (o) @)
(1) (i) (i) (iv) 0)
(2) (i) (i) () (v)
@) (i) (v) (i) (i)
@) (i) () (ii (v)
frfolReg § @ o9 e A W g o
gai ST B U Bl HeM & oY avds
(1) SR >TIR

(2) JATHATT > IHITHA

(3) JG&R 3R IUATA

(4) SR 3IR 3MYaTa-

TP Wener v & gmr S99 &Rar
21 ®: fifedy & ST WS B 3P
ST ¥ R/ Ser 8ef ?

1) 128

2) 24

3) 64

(
(
(
(4) 32

170.

171.

172.

173.

Match List-l with List-ll regarding the organs
ofcockroach:

Listl List Il
(@) Crop (i) grinding the food
particles

(b) Proventriculus (i) secretion of digestive

juice

(c) Hepatic caecae (iii) removal of

nitrogenouswaste
(d) Malpighiantubules (iv) storage of food

Choose the correct answer from the options given
below:

(1) @)}(iv), (b)), (c)—(ii), (d)iii)
(2) (a)ii), (b)ii), (c)—(i), (d)(iv)
(3) (a)ii), (b}(iv), (c)—(i), (d)iii)
(4) (@)(i), (b)—(iv), (c)—(ii), (d)(ii)
Match List-l with List-Il
List-1 List-ll
(@) Cellular barrier (
(b) Cytokine barrier (i) Mucus
( (

c) Physical barrier

i) Interferons

i) Neutrophils
(d) Physiological barrier (iv) HCI in gastric juice

Choose the correct answer from the options given
below:

@ b (o (d)
(1 @ (i) W) (i)
@) @iy (i) () )
(3) (i) (v (i) (i)
@ @iy @ (i) )

Which of the following would necessarily
decrease the density of a population in a given
habitat ?

(1) Natality > mortality

(2) Immigration > Emigration
(3) Mortality and emigration

(4) Natality and immigration

A protozoan reproduces by binary fission. What
will be the number of protozonas in its population
after six generations ?

(1) 128
2) 24
3) 64
4) 32




174,

175.

176.

fafaRaa & gaferd &) ok 9@ Reey @t
T BN

SicH | Sied I
A. et i, ATH IUDA
B. g ii. HREE {4
C. PUTT TH iii. FIST Udren

D. HSY JAeANIST  iv. IR Al a1
(1) A-iii, B-i, C-ii, D-iv
(2) A-ii, B-i, C-iv, D-iii
(3) A-iii, B-iv, C-ii, D-i
(4) A-iii, B-i, C-iv, D-ii

2005 %, U& oW # SuRed 14 feis wA®
Sa1 @ fog, 0.028 U7 g% SR 0.008 T aY
% IRE 4 B T, TRE@ie ghg $ FHIHR
P STIRT FG 2015 § 9T &I €T @
SuRerd 8 &1 gaigae

(1) 25 fHferas

) 17 faferas

3) 20 fHfera=

@) 18 fHfera=

T Q wH Ry v § -

AT I

JIRTIP!, ITSHT 3R BIghsd UFSTARTH Bl URoIdT
qrey SIfot B |

A Nl

ADBIS Bel TR BIC ISl BT Gar &

SWIFd doAl & el # A Ry 1y faweai #
H Hai0e SUYE SR B T/ DI ¢

(1) B | 3R B Il T TeId 8 |

2) P | FEI § lfhT A 11 71 2 |

(3) BU | T B lfh B || & B |

(4) FF | 3R AT Il AT FE |

174,

175.

176.

Match the following and choose the correct option

Columnl Column Il
Touch i. Nasal epithelium
Smell ii. Foramen magnum

Cranial nerves iii. Sensory papilae

©c o w >

Medulla oblongata iv. Peripheral nervous

system
(1) A-iii, B-i, C-ii, D-iv
(2) A-ii, B-i, C-iv, D-iii
(3) A-iii, B-iv, C-ii, D-i
(4) A-iii, B-i, C-iv, D-ii
In 2005, for each of the 14 million people present
in a country, 0.028 were born and 0.008 died
during the year. Using exponential equation, the
number of people present in 2015 is predicted as
(1) 25 millions
(2) 17 millions
(3) 20 millions
(4) 18 millions
Given below are two statements
Statement I:

Orobanche, Striga and Ficus are parasitic plant

species of angiosperm.
Statement Il :
Orchids fruits contain thousands of tiny seeds.

Choose the correct answer from the option given

below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement lis correct but Statement Il is incorrect
(3) Statement lis incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct




177. 90 Q1 ®ua fey v F -

DY It

— =g & fZdsra=T arey &1 o7

DYT Il :

— RTRTH & YdhdlSTa=] 9Iey &l yor

9 Ry MU ewed # 4 98 SR &1 T9q
PINTY :

(1) B | 3R HU || SFT TAd € |

2) BUT | ST & AT BUF Il T 7 |

(3) BUT | eI B AfbT BT || LT B |

(4) H | 3R BT Il T | F |

178. i Q1 ®u fey v F :

DY |I:

Tl AIDS 3R THRURNT GehHUT RSB fold FehHor
2 37 °1de Bidl 2 |

DA Il :

T AIDS 3R fatiersfe —B e Tt arerdr i
JEd P HETH U ol AehdT 2 |

SWITT HUFI & deH ¥ - Ry 1y fJmear #
H Haife SUYed SR & 999 BIfg :

(1) B | 3R HU || SFT TAd € |

2) BUT | LT & AT BUF Il T 7 |

(3) BUT | eI B oAfbT BT || LT B |

(4) FF | 3R A Il IHF | |

177. Given below are two statements

178.

Statement |I:

— Embryo of dicotyledonous plant of

gymnosperm.
Statement Il :

— Embryo of monocotyledonous plant of

gymnosperm.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement lis correct but Statement Il is incorrect
(3) Statement lisincorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct
Given below are two statements
Statement I:

Both AIDS and Ascariasis infections are chronic

infections and ultimately fatal.
Statement Il :

Both AIDS and hepatitis-B can be transmitted through

sexual contact or infected blood.

Choose the correct answer from the option given

below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement lis correct but Statement Il is incorrect
(3) Statement lis incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct




179. Th W & URU SWigs 3R oA gl

180.

& forg s@fed 8 21 4 9§ &xd §¢ 9ud
Haer § fiomuet v 81 R vig dEd 2
a<d H I8 9 ©

179. Plants of this group are diploid and well adapted

180.

to extreme conditions. They grow bearing
sporophytes in compact structures called cones.
The group in reference is

1) Monocots

(

(2) Dicots
(3) Pteridophytes

(4) Gymnosperms

The primary structure of a protein molecule has
(1) Twoends

(2) Oneend

(3) Threeends

(4) Noends
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PHYSICS

4.

10.

@
oK TR grft
[Kl = []"=[T]
@
4

[NCERT-XI-I-06]

[NCERT-XI--71]
[NCERT-XI--14]

faveus 99g UT% @1 ggurar = o9

v,=tan 60°= /3

v, =tan 30 =

5

AN BT JAFUTT =1: 3

(3) [PYQ Modified (Ganga Nagar 2022)]

1 o 1,
1 Zg() Zg

1 1
H, = =g(2t)’ = =g(4t)’
) 2g( ) 2g( )

4)

™
4
@3
faga &5 va wRel & ®

[NCERT-XI4-27]

[NCERT-XI-I-38]
[NCERT-XII-I-297]
[NCERT-XII-I-14]

[NCERT-XI-I-59]

[NCERT-XI4-27]

1. (2

2.
3. (4

4, (3)

5 @4

6. (1)
7. (4
8. (3
9. (1)
10. (4)

[NCERT-XI-I-06]
oK should be dimension less
[K] = [o]"=[T]
[NCERT-XI-I-71]
[NCERT-XI-I-14]

Slope of displacement time graph gives velocity

v,=tan 60° = /3
v, =tan 30 = L

NE)

Ratio of velocities =1:3

[PYQ Modified (Ganga Nagar 2022)]

1 1
H, ==g(t)’ ==gt’
1558 S8

1 1
H =—g(2t)> ==g(4t)’
2 Zg( ) Zg( )

[NCERT-XI-I-27]
All are correct

[NCERT-XI-I-38]

[NCERT-XII-I-297]

[NCERT-XII-4-14]
Electrostatic field is conservative field

[NCERT-XI-I-59]
Impulse = force x time

[NCERT-XI-I-27]
Particle is in stationary so

.ol
el
n

+P, +P,

=8

B[ =P} +P]

|
|
|




1. (4) [NCERT-XII-I-06] | 11. (4) [NCERT-XII-I-06]
12. (2) [NCERT-XIH-59] | 12. (2) [NCERT-X--59]
g & gRT fhar a1 &1f = AKE. Work done by force = AK.E.
FxS “my? FxS ! v
= — X = —
X795 2
m_5 m_5
m, S, m, S,
m 2 2 2 m 2 2 2
m+m/2 S' 3 S m+m/2 S' 3 §'
S =3m S =3m
13. (3) [PYQ Modified (Jhajjhar 2024)] | 13. (3) [PYQ Modified (Jhajjhar 2024)]
v =m1\71+m2v2 zm(ZV)+m(—V)=X V =m1\71+m2v2 =m(2V)+m(—V) :X
T m,+m, m+m 2 T m, +m, m+m 2
14. (2) [PYQ Modified (Re-NEET 2024)] | 14. (2) [PYQ Modified (Re-NEET 2024)]
2 0) \/g 9.8 2 ® \/g 9.8
= = N ST | e a=r = = |— = [|——
asre r \0.20 @ - Vo.20
o= 9800=7 - 9800=7
200 200
15. (3) [NCERT-XII-I-108] | 15. (3) [NCERT-XII-1-108]
M_a M_a
L 2m L 2m
M= i]_ M= i|_
2m 2m
_q m _amf
©2m 12 S 2m 12
_ qol? _ qol
24 24
16. (1) [NCERT-XI4-135] | 16. (1) [NCERT-XI--135]
YR T = \J20R, escape velocity =,/2gR,
17. (2) [NCERT-XI-II-278] | 17. (2) [NCERT-XI-11-278]
BT AT g6 DI ART H QI BT System will oscillate Frequency of periodic force
18. (3) [NCERT-XI-1I-180] | 18. (3) [NCERT-XI-11-180]
qr= (1) 7 SrfdramaH Maximum in vessel (I1)




19.

20.
21,

22,

23.

24,

25,

26.

@)

4)
M

)

M

@

@)

@

[PYQ Modified (Manipur 2023)]

P=1><400><1><1
2 2

~ 400 _ 400w
4

[NLI Expert]
[NCERT-XI-11-246]
fosf 1 @& ol PV = puRT

HR 1
T = slope o« —

—H|<

[NCERT-XI-I-233]
Ford UhH B foIg Q=W
I BT &FABA = 7r2 = 1 x(10)2
=102 rt Joule
[PYQ Modified (Odisha 2019)]
goH g b foTg A, asin0= 1.4,
Ueq =YAqH & oY L, asinf=3/22,

Ay =250, = 26000 = 4000A
3 3
[NCERT-XI-II-253]

4 5T DI 0°C | 4°C, TP TH HRd & ATAT
de+ P Il "edl g | ST

T g9 UR SMaeIS HH I T IR HHT
J B9 8RN

[NCERT-XI-II-270]
4A
[NCERT-XII-II-270]
2_\2 1 2| a® o
= — 2 — = — - 4
K zmm (@ —vy?) 2m(o m’
E 1 2 12
=5 mo* a
k1
E m

19.

20.
21,

22,

23.

24,

25,

26.

@)

4)
M

)

M

@

@)

@

[PYQ Modified (Manipur 2023)]

P=1><400><1><1
2 2

=200 400w
4

[NLI Expert]
[NCERT-XI-II-246]
Foragas PV =pRT

v R _ 1
7 = p = slpe o 5

[NCERT-XI-11-233]
Q = W for ccylic process
Area of circle = r? = T x(10)2
=102 7t Joule
[PYQ Modified (Odisha 2019)]
For first minimaof A, asin6=1. &,

For first maxima of 1,, asin 0 =3/2 A,

or A, :%m :§x6000:> 4000A

[NCERT-XI-11-253]

When water is heated from 0 to 4°C, the volume
decreases instead of increasing.

.. Heat required at constant pressure is less than
that at constant volume.

[NCERT-XI-11-270]

4A
[NCERT-XII-II-270]
1 2 (22 2 1 2 az_a_z
K—Zm(o (a —y)—zmm m?
E= - mo?a?
k 1
E m
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31.

32,

33.

34,

35.

36.

37.
38.

4)

@

@)

M

M

M

4)
@)
4)

[NLI Expert]

[NLI Expert]
[NCERT-XII-1-232]

[NCERT-XII--107]
Tolff T & IR 81 BT 99 TART B
[NCERT-XII-1-89]

T
[NLI Expert]
sin” (tanr)
[NCERT-XI-1-135]
2GM i R
Ve=4/—— -+ M=Tadi R =—
R 4
. |2GM
V) = R/4 /4 " 2V,
[NCERT-XI-I-83]
2p
A
[Experimental]
kx = dAV2
dAV?
X =
k
[NCERT-XII-I1-147]
[Experimental]
[NCERT-XII-II-276]
P

>
I
o>
)
Il
> >

27.

28.
29.

30.

31.

32,

33.

34,

35.

36.

37.
38.

)

4)
M

4)

@

)

M

M

M

4)
@)
4)

[NLI Expert]

Conservation of charge

i)

[NLI Expert]
[NCERT-XII-1-232]

1 [ My
fo\ Mo

%z(o.s)(%j

f=20cm
[NCERT-XII-I-107]
use fleming left hand rule

[NCERT-XII-I-89]

decreases
[NLI Expert]
sin~' (tanr)
[NCERT-XI-I-135]
2GM . R
Ve=4/—— -~ M=constant if R"= —
R 4
. [26M
Ve =\r/a =2V
[NCERT-XI-I-83]
2u
A
[Experimental]
kx = dAV2
dAV?
X =
k
[NCERT-XII-I-147]
[Experimental]
[NCERT-XII-II-276]
P
78
h h
A= —= P=—
P A




39.

40.

41,
42,

43,

45,

(1) [NCERT-XII-11-306]
IS BT gcd = 2.29%x1017 kg/ m?3

) [NCERT-XII-I-181]
3) [NCERT-XII-1I-333]
(1) [NCERT-XI-I-270]

3 fa=gait & oo o

mv?

at0°T-mg= R IR
@ [NCERT-XII-I-136]
(1) [PYQ Modified (Abroad 2022)]

(1) [NLI Expert]

39.

40.

41,
42,

43,

45,

M

4)
)
M

@
M
M

[NCERT-XII-11-306]
Density of Nucleus is = 2.29x10'7 kg/ m3

[NCERT-XII-I-181]

[NCERT-XII-1I-333]

[NCERT-XI-II-270]
Check by extream position's

2

at 00 mR\: upwards

T-mg =

[NCERT-XII-I-136]
[PYQ Modified (Abroad 2022)]
[NLI Expert]




CHEMISTRY

46.

47.

48,

49,

50.

51.

52,

53.

54,

)

@

)

M

@

)

@

@

)

[NCERT-XI--56]
XD A 3 2|
[NCERT-XI1-264]

IdTE (D), B® 9HME &

cl CH,

[NCERT-XII-276]

[NCERT-XI-I-202]

[NCERT-XII-I1-213]

OH OH
COOK
OH 37}

IR e fdfhar iR HfaeRT srfafehar
[NCERT-XI-I-311]

CH,

Soldel el ANTHD T
[NCERT-XII-1-302]

5

A = H,C—C—CH,Cl.
]
T

B = H.C—C—CH,
o

[NCERT-XII-11-302]

1
boiling point «c molecular weight o« Bran—ching

O

[NCERT-XII-11-208]

46.

47.

48,

49,

50.

51.

52,

53.

54,

)

@

)

M

@

)

@

@

)

[NCERT-XI-I-56]
The value of x is 3

[NCERT-XII-264]

The product (D) is same as B

cl CH,

[NCERT-XII-276]

[NCERT-XI-I-202]

[NCERT-XII-11-213]

OH OH
COOK
OH and

Reimer Tiemann Reaction and Cannizaro reaction

[NCERT-XI-I-311]

Br
CH, CH,
D<CH=CH2 —HBr, CH,

Electrophilic addition reaction of alkene
[NCERT-XII-II-302]

T

A = HC—C—CH.CI
]
g

B = H.C—C—CH,
b

[NCERT-XII-11-302]

1
boiling point «c molecular weight o« Bran—ching

O

[NCERT-XII-11-208]




55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

4)

)
)

@

@

)

)

)

)

)

)

[NCERT-XI-I-89]
ST e P(g) + e7(g) > P(g)

[NCERT-XI-I-87]

[NCERT-XII-I1-215]

CH,
I

CH,=CH,~CH-OH,  CH,~CH,~C-!
CH,

[NCERT-XII-II-241, 210]

O
R =
[NCERT-XI--317]
?H
A = CHC=CH,
O

[NCERT-XII-I-18]

AT, =iK,.m
[NCERT-XII-I-37]
M,
AS. « Y

[NCERT-XII-I-207]

WA 7 2, 4, 5-STSHABATA BT pKa NfedHaH
2|

[Mod. PYQ]
0.1 M K,MnO,, T 100 mL fdera

[NCERT-XII-11-239]

o) (o) 1) Zn/Hg
Ph AN NH, H—(F'» Ph ANANAN NH,
2) LiAIH,
3) H,0
[Mod. PYQ]
270

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

4)

)
)

@

@

)

)

)

)

)

)

[NCERT-XI-I-89]

Exothermic step P(g) + e7(g) —» P7(g)
[NCERT-XI-I-87]
[NCERT-XII-lI-215]

T
CH,~CH,~CH.—OH, CHS—CHQ—IC—I
CH,

[NCERT-XII-I-241, 210]

(0]
R =
[NCERT-XIH-317]
?H
A = CH,~-C=CH,
II
B = CH,—~C-CH,
[NCERT-XII--18]
AT, =iK,m
[NCERT-XII-I-37]
-M, -
AS. « Y

[NCERT-XII-I-207]

Highest pKa value among phenol is 2, 4, 5-
Trimethylphenol

[Mod. PYQ]
100 mL of 0.1 M KMnO, solution

[NCERT-XII-11-239]

o) (o) 1) Zn/Hg
ph AN N, —HY s by AR,
2) LIAIH,
3) H,0'

[Mod. PYQ]

270




66.

67.

68.
69.
70.
7.

72

73.
74,

75.

76.

77.

78.

(2) [NCERT-XII-I-39] 66. (2) [NCERT-XII-I-39]

17 x 102V 17 x 1072 V
(1) [NCERT-XII--15] | 67. (1) [NCERT-XII--15]
A. I [AdrIe &) gofT 3 fdera &1 99 <79 HH A. Vapour pressure of the solution is less than that of

BT 2 | pure solvent
D. R¥ied W daa eras & Sl S B D. Onlysolvent molecules solidify at the freezing point
3) [NCERT-XI--82] 68. (3) [NCERT-XI-I-82]
@ [p-Block] 69. (2 [p-Block]
@ [NCERT-XI-I-86] 70. (2) [NCERT-XI-I-86]
3) [NCERT-XH-PYQ] 7. (3) [NCERT-XI-I-PYQ]

-2

CO < CO, < COy CO < CO, <CO;
) [NCERT-XI--114] 72. (1) [NCERT-XI-I-114]

BF3 ailx NO; BF3 and NO,
@) [NCERT-XII--240] 73. (4) [NCERT-XII-I-240]
3) [NCERT-XI--139] 74. (3) [NCERT-XI-I-139]
. HU TS 2 ofrT BRT e » Assertion is true but Reason is false.
@) [NCERT-XI--186] 75. (4) [NCERT-XI-I-186]
(1) NO,(g) @\ |T=al S e < (1) Bydecreasing concentration of NO(g)

2
@) e ET e COl T S g et 4 (2) Byincreasing pressure and decreasing temperature
@) [NCERT-XII--74] 76. (4) [NCERT-XII-I-74]
I slope = K I slope = K
In[A],

In[A], I Al I In[A],
3) [NCERT-XI--151] 77. (3) [NCERT-XI-I-151]

50 kcal 50 keal
3) [NCERT-XIII-173] 78. (3) [NCERT-XII-II-173]

NO, OMe (a ©. (Ob')\"e
@ o @ @ 0
: Decreasing order towards S, reaction for the
SRl DT & forw Sy | rffshar w1 wedr ga N
FHb>d>c>ad compoundsisb>d>c>a.




79.

80.

81.

82,

83.

84.

85.

86.

87.

88.

89.

90.

(3) [NCERT-XII-1I-208]
OH
g\ ++>An alkene (Major) q
4) [NCERT-XII-II-232]

(1) [NCERT-XII-1I-240]
@) [NCERT-XI-II-286]
() [NCERT-XI-1-18]
2 [NCERT-XI-I-302]
™ [PYQ]
FeCl, +H,
(2 [p-Block]
ST Ygfcl BT ALl HH o
C>>Si>Ge = Sn
(4) [NCERT-XI-1-129]
(1) [Mod. PYQ]
ST
(1) [NCERT-XII-1-132]
t293eg1
(1) [NCERT-XII-II-102]
[Ni(CI),I? - 2.82BM.
[Co(C,0,),I? - 0B.M.
[FeF I - 5.92B.M.

[Mn(CN),} ~ 1.73B.M.

79.

80.

81.

82,

83.

84.

85.

86.

87.

88.

89.

90.

)

4)

M
4)
@
@
M

@

4)
M

M

M

[NCERT-XII-11-208]

OH
g\ +>An alkene (Major) @

[NCERT-XII-11-232]

[NCERT-XII-1I-240]
[NCERT-XI-1I-286]
[NCERT-XI-I-18]
[NCERT-XI-1I-302]
[PYQ]
FeCl, + H,

[p-Block]

Correct order of catenation tendency

C>>Si>Ge = Sn

[NCERT-XI4-129]
[Mod. PYQ]

Violet

[NCERT-XIIH-132]
tzg?’eg1

[NCERT-XII-1-102]
[Ni(CI),I2 - 2.82B.M.
[Co(C,0,).I® - 0BM.
[FeFl? - 5.92B.M.
[Mn(CN)I* - 1.73B.M.




BIOLOGY

91. (3) [NCERT-11-48]
U®h YR &1 ART — ZIFT, GIFT
GIP, PTH—gM™H
GIT - YT =1 BT 91T

22. (3) [NCERT-II-178, 179]
eI — Scdd Aae=

93. (4) [NCERT-1-143,144]

(4) ST AR RS & 3R R, A &1 Hel ARAT BT
=

9. (2 [NCERT-I-194,195]

WBCs =i clNlgC Gﬁ? PR KIIELS)
WIANTSe— AMMEed iR forprasea
I Arsc—=Ighed, SHbIed 3R gAREIhed

95. (4) [NCERT-1-158, 159]
TRICH BIVSITSH—T TATSHITIRIT 3R el dh
D A HASTD el @

2. (2 [NCERT-1-187]
9% # pO, AR pCO_ A 40 mmHg 3K 45
mmHg BT T |

97. (2 [NCERT--65]
I GISUSIN — [$8el, THICY, Hig

98. (1) [NCERT--80 to 84]
o AR A & Y WEl [y & |

(A) T BIgeT™

(B) gaefers

(C) <ifre fgwuar

(D) U SIIS! guvl 3R Teb SIS! TSI

(E) 3THME U =<

29. (3) [NCERT-I-60, 61]

A. BEOR Agad gl 1. Ricd die
B. Gifersn RRIfa=w | Zdee= g
C. fU=reR HYgad il Il =4
D. 3r{rrel IV. SRMRERT HH

100. (2) [NCERT--230, 231]
feHy =R & T8 ¢ |

101. (4) [NCERT-I-214]

3FqUH HaP Teh YHR BT Famoidr g | wRRefis
foRfire # gamoidt &1 B1g e w81 e Ty @

91. (3) [NCERT-II-48]
ZIFT, GIFT-ART
GIP, PTH —Hormone
GIT — Part of digestive system

92. (3) [NCERT-II-178,179]
Micropropagation — Tissue culture

93. (4 [NCERT-I-143, 144]

(4) Both (A) and (R) are correct and (R) is the correct
explanation of (A)
94. (2 [NCERT-I-194,195]
WBC —Agranulocytes and granulocytes
Agranulocytes — Monocytes and lymphocytes
Granulocytes — Basophils, Neutrophils and Eosino-
phils.
95. (4) [NCERT-I-158, 159]
Acetyl Co-A is the connecting link between
glycolysis and Kreb's cycle.
96. (2) [NCERT-1-187]
Intissue P, and P, are 40 mmHg and 45 mmHg
respectively.
97. (2 [NCERTH-65]
Axile placentation — China rose, Tomato, Lemon
98. (1) [NCERT--80 to 84]
Select the correct option for frog and human :
(A) Same phylum
(B) Ureotelic
(C) Sexual dimorphism
(D) One pair testis and one pair ovary
(E) Unqual cranial nerves
929. (3 [NCERT-I-60, 61]
A. Palmately Il. Silk cotton
compound leaves

B. Reticulate I. Dicotleaves
venation

C. Pinnately compound lll. Neem
leaves

D. Racemose IV. Acropetal order

100. (2) [NCERT--230,231]
Ganglia = group of neuron

101. (4) [NCERT-II-214]

Slime moulds — Saprophytes

Saprophytes — Not given any place in ecological
pyramid




102. (2) [NCERT-II-130 to 134,153] | 102. (2) [NCERT-II-130 to 134, 153]
BB AN — DR, AIHT Non infectious disease — Cancer, Diabetes mellitus
103. (2) [NCERTHI-98] | 403. @) [NCERT-1-98]
| 1 BTN HIE BT AT & | The process of translation is protein synthesis
104. (1) [NCERT-II-216]
S — 98000 104. (1) [NCERT-II-216]
N 300000 (1) Fishes — 28,000 species
aiffhe — ST 20000 (2) Beetles — 3,00,000 species
5 — 20000 & SITET (8) Orchids — Nearly 20,000 species
105. (2) [NCERT-I-69] (4) Ants —  More than 20,000
I TTERT @ AT, e Hh 9 ¥, Sofel ] species
Al 105. (2) [NCERTHI-69]

106.

107.

108.

(2) AABBCC, AaBbCc, aabbcc

(1) [OId-NCERT-]
A. gacR faforer & I gwifdar
JTHR BT a1
B. YA =1 Il. SFD<
C. qffrra e Il 3T
D. JaR™ IS V. T

&) [NCERT-I-244, 245]

a. BICKIT, §ad, [asil I & YERWT AT Jab
&1 foparatt # o enfiet 2 |

b. TSI dehe ERT HH A H USITH WSS
&7 Al AT BT 2|

c. Gl BICiEVs BlEgsse & SUIad H A
BT B | TDIBICTHTS e & |

d. AR IR ¥ YA gab & AU AT WR b Sile!
arfergaes srferit Rera g1 £

@)

(1) CCK -

[NCERT--247]
ST TR B DRl

g

ey W S HRar
g

e wfer R BR
HRAT

AT IFARR W)
BRI BT & AR

e T~olTgq & GTau
Bl URT BT B

(2) CCK -

(3) -

(4) Arprde -

106.

107.

108.

Darkest skin colour, intermediate skin colour,

lightest skin colour

(2) AABBCC, AaBbCc, aabbcc

(1) [Old-NCERT-]]
A. Fleshy cylindrical I. Euphorbia
stem
B. Undergroundstem Il. Zaminkand
C. Undergroundroot Ill. Carrot
D. Stilt root IV. Maize

@)

a. Cortisol is also involved in maintaining the cardio-

[NCERT-l-244, 245]

vascular system as well as the kidney function

b. Small amounts of androgenic steroids are also
secreted by the adrenal cortex

c. The corticoids which are involved in carbohydrate
metabolism are called glucocorticoids

d. Ourbody has one pair of adrenal glands, one at the
anterior part of each kidney.

() [NCERT-I-247]
(1) CCK — Acton pancreas

(2) CCK — Acton gall bladder

(3) Gastrin — Act on gastric gland

(4) Secretin — Act on exocrine

pancreas and stimulate

secretion of digestive
enzyme




109.

110.

1.

112.

113.

114.

115.

116.

117.

[NC-1-231, 232]

(@) CNS —- FCUS

(b) PNS - ®If® A~=d T

(c) PNS — 3[R AfSIdl T

(d) Iggdra afFdr — HARASS dege
BIfBT

[NCERT--217]

b. <dreT
e. dedl
1) [NCERT-1-138, 139]
Z AT # PS 13IR PS Il ST enfde #

Z A5 § e UTEN BT B

a. WHwERT - PS |

b. 3MARA AHR U — PS I

1) [NCERT-1-126]
S |ffasr &1 v ve el g aeed
TURIAT gRT &Il 8, S Il AdT IS HE 2 |
3) [NC--126, 127]

(1) RreifAe |ffsr - gataRer |

) fafae — gatawer |

(3) FHSIT UGS P — TR |
gerds BIFT

(4) Reprfrarer —  YafaRer |
§ISRC

@ NCERT-1-41 to 51]

S d BT T TR, WRIAT 3R bl — DHisc]
) [NCERT-1-30 to 32]

fuHdISTTos & Her € A AH IS —
cReprse
) [NCERT-11-62 to 64]
RRYY — 6.25%
rrYY — 6.25%

rrYy —12.5%

1) [NC-11-62 to 64]

(1) RrYY — e
@) rryy — Ui 3RER
@) Tt —  ofR T TR
(

4) tt — 99T dien

109.

110.

1.

112.

113.

114.

115.

116.

117.

(2 [NC-1-231, 232]
(@) CNS — Spinal cord
(b) PNS — Somatic Neural System
(c) PNS — Visceral Nervous System
(d) Multipolar — Cerebral cortex
neuron
(1) [NCERT-I-217]
The example of locomotion
Walking
Running
e. Climbing
(1) [NCERT--138, 139]

In Z schame both PS | and PS Il involved
a. Phaeophytin— PS |
b. Iron sulphur protein —PS |
(1) [NCERT-l-126]

The complex formed by pair of synapsed homologous
chromosomes is called a Bivalent or tetrad

(3) [NC-1-126, 127]
(1) Synaptonemal — Prophase |
complex
(2) Crossingover — Prophase |
(3) Separation of — Anaphasel
homologous
chromosome
(4) Recombination — Prophasel

Nodules
2 NCERT-I-41 to 51]

Central nervous system is Dorsal, Hollow and single —

Chordata
(2) [NCERT-I-30 to 32]

Pteridophyte — Heterosporous as well as
homosporous

(4)
RRYY - 6.25%
rrYY —6.25%
rrYy —12.5%

M

[NCERT-I-62 to 64]

[NC-I1-62 to 64]

The correct match for mendel experiment

(1) RrYY — Yellow round
(2) rrYy — Yellowwrinkled
(3) Tt — Tall plant

4) tt — Dwarfplant




8. 2)
) A WEl § W] R 78 §
119. (2)

[NCERT-II-37]

[(Old NCERT-l)]
JHH— 3MIAIS AR HB AT
BE AN — eH, TR, ghyl

120. (2) [NCERT-I-110, 111]
A. TATSHIoH Il enRad sRae dfeft
B. Wddlol . 9Tqy BT M
C. drefes IV. Sifed dfeiaxIss
DNEEIN | . RNA

121. (4) [NCERT-1-43, 44]

A - TR, B - BRIEI, C -
D- fa=g, E- g, F — 3mae o™

I-ACD,EF
IH-E
In-C,D,E,F
IV-C,EF
122. (2) [NCERT-1-45 to 50]
BIgH Brscl & oY el B 2 |
(a) UlERI # A1 B BHS A JSHY TGET B oY
YRS BIAT T |

(b) e ARGy, gferat *fi dieT # SuRerd 81T 2 |
(e) AT JRITecl AR b eldrect guid: Agal
=
A-afecd & fog 98 HoF &
(c) THIBTSCT H UEIRT UfRT SAoil 3T 8IaT § |
(d) TRT FOe § oo ATl T SURd &

123. (2) [NCERT-I-89 to 91]
PIHCIHR, HISRAE, DNA, RNA — TidRafes

DIfADT
DNA, RNA, 3= f3ifedtar a=—gaRarfes

DIfRABT
124. (4) [NCERT-II-8]
(4) TFT AR RYE! § 3R R, A P &I R PRl

=

125. (4) [NCERT-II-32, 33]

(4) GFI A IR REEl & 3R R, A &I A&l aIRaT
BT B |
126. (1) [NCERT--201,202]
A BT T HaAd! Bl Afadiard Iad T Bl
2| 9 BH T |

(1) HEEFEN — TH — FAMBIY — U — Hdd

118. (2) [NCERT-II-37]
(2) (A)is correct but (R) is not correct
119. (2) [(Old NCERT-I)]

Vessel —Angiosperm and Some Gymnosperm
Some Gymnosperm — Gnetum, Welwischia,

Ephedra
120. (2) [NCERT-1-110, 111]
A. Glycogen Il. Branched chain
polysachharide
B. Cellulose I. Plant cell wall
C. Chitin IV. Complex
polysaccharide
D. Ribose . RNA
121. (4) [NCERT--43, 44]

A — Ascaris, B — Fasciola, C —Snake
D- Scorpian, E- Rohu, F — Octopus
I-ACD,EF
II-E
INn-CD,EF
IV-CEF
122. (2) [NCERT-I-45 to 50]
The correct statements for Phylum chordata:

(@) In birds air sac connected to lungs supplement
respiration

(b) Scales are present in reptilia, aves, pisces

(e) Sub phylum urochordata and cephalochordata are
exclusively marine

the correct statements for Non-chordates

(c) In Hemichordata Excretory organ is proboscis
gland

(d) In starfish water vascular system is present.
123. (2) [NCERT-I-89 to 91]

Chromatophore, Mesosome, DNA, RNA —
Prokaryotic cell

DNA, RNA, Endomembrane system — Eukaryotic
cell
124. (4) [NCERT-II-8]
(4) Both (A) and (R) are correct and (R) is the correct
explanation of (A)
125. (4) [NCERTHII-32, 33]
(4) Both (A) and (R) are correct and (R) is the correct
explanation of (A)
126. (1) [NCERT--201,202]
The human heart pumped oxygenated blood to
tissues. The correct sequence

(1) Aorta — Arteries — Arterioles — Capillaries —
Tissues




127. (4) [OLD NCERT-I]
a1 o, Wga S|, sjfier — R SR H&T
hldHRd, T Sile! IR

T[&T I[P, AR U — TR BRI

128. (2) [NCERT-II-56]
USRI PRI H BRebT P [ATIRT SIS DT TeAlAHD
PHET ST &

129. (4) [NCERT-11-43 to 46]

A & fHeT e § - 3rRiY, YIoReTNIe,
mferat
130. (4) [NCERT-I-111]
FHU -I- gd M fAaRBT &1 A1 © 6 Shas o
TR S $hTs AN~ AT 3FH Tl F RIFIRT
g3 gedl o Tap ol |
DH-1I-BTHT FHY Tb Jg |l AT STl T T
fb Sie & ok Al g3 Al S 99,
Prae dffe A UHc Al I8 W o9 D
g or|
131. (4)
DY |:
I qIgUl § $Hdd B AR AR BRI g1 Rerfa
& ATAR BN 7 |
DY |l :
I UTgUl § Hdd Bl G qeHT Refd & R W)
$dd T I TR BT BT = |
132. (4)
gfc Wic — R EReT0T 8

[NCERTH-71]

[NCERT-I-225]

133. (1) [NCERT-11-165,166]
RE & AHGROT H 99 ST A & 916 S HH
DI TR & FTIDT SaT] & T A rollsd g
fou T o

134. (2) [NCERT-II-142 to 144] [NCERT-I-108]

AP, Blbe, Halfed — Tehldivs

135. (3) [NCERT-II-73to 75]
(3) THI (A) 3R (R)FET & 3R (R), (A) & Hal AR
BT 2 |

136. (4) [NCERT-11-90]

IHRACH H TR IR g7 FeAR gRT JHIOT gaf
& o | ufagire sefwRell ugf &1 8 g |

137. (3) [NCERT--177,178]
gfcqdl # depTel R DI < B @ g gD
3t URT dRalT ©

127. (4) [OLD NCERT-]

Anal cerci, Compound eye, Antennae, Three pairs
legs — Male and female cockroach
Anal style, Mushroom gland — Male cockroach
128. (2) [NCERT-II-56]
The contrasting pairs of factors in Mendelian crosses
are called allelomorphs

129. (4) [NCERT-II-43 to 46]

Contraceptive hormonal role are involved — Implants,
Progestasert , Pills

[NCERT-II-111]

Statement -1- Early greek thinkers thought units of
life called spores were transferred to different planets
including earth.

130. (4)

Statement-II-For a long time it was also believed
that life comes out of decaying and rotting matter
like straw, mud etc. this was the theory of sponta-
neous generation.

131.(4)

Statement |I:

[NCERT--71]

In flowering plant the structure and function of tissue
would also be dependent on location.

Statement Il :
In flowering plant on the basis of structure and location
of tissue, there are three types of tissue systems.
132. (4) [NCERT-lI-225]
In-situ conservation — Hot spot
133. (1) [NCERT-1I-165,166]
In the nomenclature of RE Roman number indicate the
order in which the enzymes were isolated from that strain
of bacteria
134. (2) [NCERT-II-142 to 144] [NCERT-1-108]
A. Morphine, Cocaine, Nicotine — Alkaloids
135. (3) [NCERT-II-73 to 75]
(3) Both (A) and (R) are correct (R) is the correct
explanation of (A)
136. (4) [NCERT-11-90]
DNA replication is semi-conservative in nature was

experimentally proved in eukaryotes by alyor and his

colleagues:
137. (3) [NCERT--177,178

Abscisic Acid hormone is used to induce immediate
stomatal closure in leveas




138. (2)

139.

140.

141.

142,

143.

144,

145,

146.

[NCERT-1-163, 164]
3R ST TadT B SeaaH &R USRI PR 2 |
(3) [NCERT-II-207,208]

URIe & ueed & <4 H 98l ©

() HH TTIHI TS Bl AdH © |

(b) T @R TH qrcTaReT YfHAT BT AHAT BT ¥ |
(c) ufsar argda g 2|

(d) I Aol I BT 8 3PR W 3R FreiEsse I
TR % |

(e) 3NURE HIDIY IR SNATIEARI UITgH & §RT el
Frprafd yeref # smEfed & ST B |

[NCERT--126]
TEI (A) 3R (R)¥8l § 3R (R), (A) &T

IR T&] HRAT & |
(1) [NCERT-I-88, 89]
(1) (A) |8l § W] (R) 9al T8l ©
(1) [NCERT-1I-80 to 82]
(1) 15% A, 15% T, 30% G , 40% C
(1) [NCERT-II-174, 175]
e gs UISIH Pl fauor | Ugel JFhRUT 3R
YETBRYT DI UfhAT FTUATE YAV HEARI ©
3) [NCERT-II-38], [ncert-1-242]
TR — BHIM g7 el yfiad 3R wied
Sergor gfad gl $ fory R §
4) [NCERT-II-116 to 118]
JfEforar # ARYUTA 3R RT TRl 9ga 4
HAT AN DI ATE T & forg e g8 2139
UHR BT e AR e & wu d S o
|HAT B

@)

4)
)

[NCERT-II-69 to 76]

(@ XX-XO fofir ferRor  (jii) UT B8R
o fafdr

(b) XX-XY foiir fgiRor  (iv) A% fawrw g7wa)
o fafdy

(c) BRACIZY -45 () < RIsH

(d) ZW-zz e FeiRer (i) AreT fawm et
o fafdr

138. (2)

139.

140.

141.

142,

143.

144,

145,

146.

[NCERT-I-163, 164]

Germinating seed exhibits the highest rate of

respiration

@)

The corrct for decomposition of wastes

(@)

[NCERT-II-207,208]

Low temperature inhibits decomposition
Warm and moist environment favours the process
The process is aerobic

It is faster if detritus is rich in proteins and
carbohydrates

©)

Detritus is degraded into simpler inorganic
substance by fungal and bacterial enzymes

4)

(4) Both (A) and (R) are correct but (R) is not the the
correct explanation of (A)

™
(1) (A)is correct but (R) is not correct
™
(1) 15%A, 15% T, 30% G, 40% C
™

(1) downstream processing
)]

Oxytocin hormones is responsible for both the milk

[NCERT-1-126]

[NCERT-1-88, 89]

[NCERT-I1-80 to 82]

[NCERT-II-174,175]

[NCERT-II-38], [ncert-1-242]

ejection reflex and the foetal ejection reflex
4

In Australia, marsupials and placental mammals have

[NCERT-II-116 to 118]

evolved to share many similar characteristics. This type
of evolution may be referred to as Convergent Evolution

@)
(@) XX-XOmethod

[NCERT-II-69 to 76]
(iii) Grasshopper
of sex determination
(b) XX-XY method of (iv) Male homogametic
sex Determination
(c) Karyotype-45 (i) Turner's syndrome
(d) ZW-ZZ method of (i) Female heterogametic

Sex Determination




147. 2)

[NCERT-II-166 to 173]

(a) wfca=a (iii) T faR¥re W= w
TURIR[FATTST DNA &I dledT @
(b) VFARFATS (iv) DNA® fHaRT &
R EERISERED)
gerdT @
(c) DNA TTEIST () DNA TUSI Bl Sredr
g
(d) <P UTeiRST (ii) STFIE DNA
RIER TR IR
B YR BT
148. (3) [NCERT-11-93 to 95]
(@) RNATUTi RS (i) rRNA
(b) RNATUTRS II (i) hnRNA
(c) RNAUfi RS I (i) tRNA
149. (3) [NCERT-II-116 to 118]
150. (1) [NCERT-1-226, 227]
(@) faadt afr (i) P & 9
(b) TeoTT AT (iv) TLTRH 3R
AT ® dI
(c) gRTU Afe (i) Teerd 3R ufdad ©
4=
(d) ¥ afr (i) dTde 3R IS &
Aerapid & 19
151. (4) [OId-NCERT-]]

(1) BIERME HH AIeTeMerd AR SATaT RSeged &
AT AAF gfte @aT 7|

2) % AISH P IAMHR P U IR B b
6th-7thSeig @uei # SuRerd ¥ |

(3) TP SIIS! YEHIRDI AGT BidRId b 6th WIS H
Suferd B |

(4) ST PO T TSI H TS (VST AferdhT
G g |

152. (2) [NCERT-I-185,186]

(1) Mz a8 sRoge = & Rifdes &
PRI YR STl 2 |

(2) IT-TAAT B SR T THRI 19 araraRofg

9 W HH BIAT B |

(3) feads urar STar @ 99 araraxeiiy 19
T IHN G194 - HH BT & |

(4) ITITHT DT YA SRATHTH & Hpa B HROT
BT 2|

147.

148.

149.
150.

151.

152.

@

(@) Restriction

(b) Exonuclease

(c) DNAligase
endonuclease

(d) Taq polymerase

@)
(@) RNA polymerase |
(b) RNA polymerase Il

(c) RNApolymerase lll
tRNA

@)
(1)
(@) Gliding joint

[NCERT-II-166 to 173]
(iii) cuts DNA at specific
position
(iv) removes nucleotides
from the ends of DNA

(i) joins the DNA
fragments
(i) extends primers on

genomic DNA
template

[NCERT-1I-93 to 95]
(i) rRNA
(iii) hnRNA

(i) Betweenthe Carpals(i)

[NCERT-II-116 to 118]
[NCERT-I-226, 227]
(i) Between the Carpals

(b) Hinge joint (iv) Between Humerus
and Ulna

(c) Pivot joint (ii) Between Atlas and
Axis

(d) Saddle joint (i) Between carpal and
metacarpal of thumb

() [OId-NCERT-]

(1) Cockroaches exhibit mosaic vision with less
sensitivity and more resolution

(2) A mushroom-shaped gland is present in the 6th-
7th abdominal segments of male cockroach

(3) Apairof spermathecais present in the 6th segment
of female cockroach

(4) Female cockroach possesses eight ovarioles in
each ovary

(2) [NCERT-I-185,186]
Select the correct statement.

(1) Expiration occurs due to relaxation external
intercostal muscles.

(2) Intrapulmonary pressure is lower than the
atmospheric pressure during inspiration.

(3) Expiration occurs when atmospheric pressure is
less than intrapulmonary pressure.

(4) Inspiration is initiated due to contraction of
diaphragm.




153. (2) [NCERT--209, 210]

(@) Tl g @l (iiy @de T BT G
RENIEI
ERTET oIl SENIEE]
(b) TR Hdrferd (v) 3=, g 3R
Aferar PIEH 9IYE dedi
CaRCHICENILL|
RENIEI
(c) T U @I 3RS () Had oAqvli Bl g
Aot SEMIEL
(d) I Haferd AAfeId (i) AITSTH AT 3R
ST BT Fed Y-
RENIEI
154. (3) [NCERT-I-206 to 214]
(@) dreNTSTH (iv) <+ fog
(b) SICITBITSAT (iii) TRpIaTTeRT™
(c) TwiEar (ii) TTeted
(d) R ety (i) Breeei sifavere
155. (4) [NCERT-I-4, 5]
ICBN & s €
(1) BIfeRad I A1 ifdhd g1 1Y |
2) UAPH SIfd & 9N Ub G971 A9H AR TH ST
Jbd g BT AR |
(3) dsnf=ie A <ifeq # @R seaTgSs M IRy |
4) IR A S R { URT BT 8 AR SR M
%ﬁ;ﬁc & foI gwemd # BIC 3eR ¥ URT 8F
1R |
156. (1) [NCERT-l-21]
(1) osa ugfia &= # gfg =18l a=ar 2 |
%2) ATSDH BT AT Tch BIghlade bl
|
(3) ATSh DhT ChCICY;\I?-I dcd HISDIIY-Cc dedldl
|
(4) STEDHA YGHY BT BT UGS Fabdd ¢ |
157. (1) [NCERT-I-13]
(@) gelIhled (iv) <Idqury &
(b) erAfvRIShed () THIRA
(c) fRso= (iil) TH<H & Ue
(d) raaERIRET (i) STeir araTaRer
158. (3) [OId-NCERT-I]

gl PR ! B BT Yol @10d B A AR A
@ 9T AN fsaIdd & HROT BT B

153.

154,

155.

156.

157.

158.

@

(@) Descending

(b) Proximal convoluted
tubule

(c) Ascending limb of
Henle's loop

(d) Distal convoluted
Henle's loop

@)

(@) Podocytes

(b) Protonephridia

(c) Nephridia

(d) Renal calculi

(4)

the rules of ICBN?

(1)

)
specific epithet.

)

(4)

[NCERT-I-209, 210]
(i) Reabsorption of water

only

v)

Reabsorption of
ions, water and
organic nutrients
tubule

(i) Reabsorption of salts
only

(i) Conditional
reabsorption of

sodium ions and
water

[NCERT-I-206 to 214]
(iv) Filtration slits
(iii) Amphioxus
(i) Annelids
(i) Crystallised oxalate
[NCERT-I-4, 5]

Hand written scientific names should be underlined.

Every species should have a generic name and a

Scientific names are in Latin and should be italized.

Generic name is start with capital letter and specific

names should be written starting with small letters.

mycobiont

Halophiles
Thermoacidophiles
Methanogens

Cyanobacteria

@)

[NCERTA-21]

Lichens do not grow in polluted areas.
Algal component of lichens is called phycobiont

Fungal component of lichens is called

Lichens are good pollution indicators.

[NCERT-I-13]
(iv) Salty areas
(i) Hotsprings
(iii) Guts of ruminants
(ii) Aquatic environment

[Old-NCERT-]

Regeneration of damaged growing grass following
grazing is largely due to Intercalary meristem




159.

160.

161.

162.

163.

164.

(1)
(@) TTesll IYHRT

[NCERT-1-95 to 98]
(iii) TATSHIUET 3R
ECIEEAIRIECEiC
femfor
(iv) STa AULRAT BT UTeT
(i) 3Mufdre IR Icqwil
TGl BT BT 2 |
(d) T (i) U BT HAZeryoT
?3) [NCERT-I-175to 178]

Y[C WRIE $I §CHI U 98 SUAFN ThAIS & | a1
B Uil & AT Bl g & oy I8 1 RoT 4
BT &

(3) 3ifaoi BT YWTd WH 8 SdT & 3R U
Bferdl g SIe ©

@3)

(a) SrEma (iv) SR

(b) ==Y (ii) IS8

(c) fri () =41

(d) garT =i (i) Srg=erd

?3) [NCERT-II-155]

NIo & Ava d I8 HUF ©

(1) 3 IRIN & IATEH & foTT SYANT fhy ST b

=l

2 A UY & T AR g At H U7 € 2|

(3) U YA T A gl BT & 3R Aol |

TR Wi & ared 2 |
@) ¥ HoF A 1 v R
@ [NCERT-I1-168]

U SATCIHRRTT Bl STATT DB DNA WIS Bl
IS BT & THT H T8 B ©

(a) DNA 0T 3T 317] 2 iR gafory 98 oid
R Hofle <fHTd &I 3R ¥R 1T &

(b) DNA TS SicT &1 Aaig Bl faem § geran ® | ey
Ar=dl DNA & ol ®l JqTad HRal &

(c) BICT DNA TUE &7 JATHR AIH | A&l ) ad
EaGIR

(d) Y€ DNA Bl SIS FHIgS ¥ ARSI I
UV fafhvor & Udhe H= IR @7 ST Fhdl 2
[NCERT-1-106 to 111]

(b) TTSAEH
(c) e

[NCERT-I-65]

M

iv) I
) guid
i) dfelibeRIssSd

(
(
(
(iii) TehTedIUS

159.

160.

161.

162.

163.

164.

(1)
(@) Golgi apparatus

[NCERT-I-95 to 98]
(iii) Formation of
glycoproteins
and glycolipids

(b) Lysosomes (iv) Digestion of

biomolecules

(c) Vacuoles
products

(i) Trap waste and
excretory

(d) Ribosomes (i) Synthesis of protein
(3) [NCERT--175t0 178]

Removal of shoot tips is a very useful technique to boost
the production of tea- leaves. This is because

(3) Effect of auxins is removed and growth of lateral
buds is enhanced.

(3) [NCERT-I-65]
(@) Basal (iv) Sunflower

(b) Axile (ii) Chinarose

(c) Parietal () Mustard

(d) Free central (iii) Dianthus

(3) [NCERT-II-155]

The correct statements about methanogens

(1) They can be used to produce biogas,

(2) Theyare found in the rumen of cattle and their
excreta.

(3) Theygrow anaerobically and breakdown cellulose-
rich food.

(4) They produce methane gas.
4 [NCERT-II-168]

The correct statements pertaining to separation of DNA
fragments using Gel electrophoresis.

(@)

DNA is negatively charged molecule and so it is
loaded on gel towards the cathode terminal.

(b) DNA fragments travel along the surface of the gel
whose concentration affect movement of

DNA.
(c) Smallerthe size of DNA fragment, larger is the
distance it travels through it.

(d)

Pure DNA can be visualized after staining with

ethidium bromide and then exposing
to UV radiation.
(1) [NCERT-I-106 to 111]
a) Adenine iv) Purine
b) Anthocyanin i) Pigment

c) Chitin
d) Codeine

ii) Polysaccharide

(
(
(
( iii) Alkaloid

(
(
(
(




165. (1) [NCERT-II-224, 225]

ORICERSLES] (iv) HETerT H =i
CHRISEI
(b) Wi ST (iii) STET—RAT ERET0T
OEESRE] () fageh Sfa
(d) 3T ad (i) SaTeT HAT H
SATRATST BT o
BT 2 |
166. (1) [NCERT-II-164 to 173, 182]
(a) ST 9 (i) SN & TRHRYT &
fore Sy foham Sirar
g
(b) ST fafdresr () TP WRT SIF B gRT
TR S BT
EBIREIER]
(c) ST ertfeiar (iv) Y& fera DNA 319] &1
99 gfaferfa &1 e
BHRAT B |
(d) S (iii) TP STra &1 BIfRrHRI
H B DNA
167. (2) [NCERT-I-140 to 142]

ATRRROY URFT & A | FEl HAF &
(a) f3Teell & 3TaR &1 IR Tl & 3fU[3H &l faaes
gfed BT © |
(b) WIS AEAFREITS & AT & IEX ST Bl 2 |
(c) ST BT UMD UTED FAdR T BT RATHRY]
U BTgslol- dlgd Pl HRdl o |
(d) Reades t~irgd fRreell & M BR R Rerd
HGIE
(€) WIS 2™ § WveT | gedl § |
168. (2) [NCERT-II-184]
RSN [T TR BT g7 A4 R7g] & oy wrapfas
T & Q¥ UIYH Y A SITET Agferd aIdl 8
Fifdh T8 TGAT ©
(2) AT YT — AdeUeg A
169. (3)
DY -1:
3T 3l & URT —NH, 3R — COOH W¥g ol
JTINHRUNY epfel BT Ueb T 81T &, 3Ad: A~ pH R
AT IRETY R R |
DY -1l :
AT 37T MR elfdgd g, IR SATeR 3T & ©Y
# arRd T B |

[NCERT-1-106]

165. (1) [NCERT-II-224, 225]

a) Sacred groves iv) Khasi Hills in Meghalaya

b) Zoological park iii) Ex-situ conservation

c) Nile perch i) Alien species

( (
( (
( (
(d) Amazon forest (i) Release of large quantity

ofoxygen

166. (1) [NCERT-II-164 to 173, 182]

(@) Genegun (il) Used fortransfer of gene

(b) Gene therapy (i) Replacement of a faulty
gene by a normal healthy

gene

(c) Gene cloning (iv) To obtain indentical
copies of a particular

DNA molecule

(d) Genome (ii) Total DNAin the cells of
an organism
167. (2) [NCERT--140to0 142]

The correct statements regarding chemiosmotic
hypothesis :

(@) Splitting of the water molecule takes place on
the inner side of the membrane.

(b) Protons accumulate within the lumen of
the thylakoids.

(c) Primaryacceptor of electron transfers the electrons
to an hydrogen carrier.

(d) NADP reductase enzyme is located on the
stroma side of the membrane.

(e) Protons decrease in number in stroma.
168. (2) [NCERT-II-184]

Milk of transgenic 'Cow Rosie' was nutritionally more
balanced product for human babies than natural cow

milk because it contained
(2) Human alpha —lactalbumin
169. (3) [NCERT--106]

Statement | : Amino acids have a property of ionizable
nature of -NH, and —COOH groups, hence have
different structures at different pH.

Statement Il : Aminoacids can exist as Zwitter ionic
form at isoelectric point.




170. (1) [OId-NCERT-I] | 170. (1) [OId-NCERTH]]
(a) i (iv) IS BT HUBT (@) Crop (iv) storage of food
(b)Eﬁﬁ'rEle 0) Yo & B Bl (b) Proventriculus (i) grinding the food

~ - particles
© Y- (i) BT (c) Hepatic caecae (i) Jlsu(?(c;:(raetion of digestive
(d) HeTifTae Aferat (i) TTSEIo JMaRTe &1 (d) Malpighian tubules (iii) removal of
GRS nitrogenouswaste

171. (4) [NCERT-II-134,135] | 171. (4) [NCERT-II-134, 135]
(@) PIRIAT ey (iii) ~IE TP (@) Cellular barrier (iii) Neutrophils
(b) Argerpre JE () SreRORT (b) Cytokine barrier (i) Interferons
© T (i (c) Physical b.arrier ' ('ii) MUC%,IS o

i _ wli < 3 HCl (d) Physiological barrier (iv) HCI in gastric juice
(@) ™) 172. (3) [NCERT-II-192, 193]
172. (3) [NCERT-II-192, 193]

goger IR IHAT — o [ T qraen H Ueh

SR & g9 Bl "e & folu a8

173. (3) [NCERT-II-191,192]
174. (4) [NCERT-1-83]
A. et jii. < Ydren
B. g i. ATH SUd
C. HUTAT T iv. TR afrar a=
D. He Yl SleclNICl ii. HIRTHA ﬁ":l'q
175. (2) [NCERT-II-194, 195]
176. (3) [NCERT-II-22]
DY |:
JIRIS™HT R T UFRTIRgH @1 tReidl urey
SR 2 |
DY Ul :
IPTE Bl BOIRI BIC SIS DI T &
177. (1) [NCERT-II-19]
DY |:
— URRIRTH & o= urey &1 o
U

Mortality and emigration — necessarily decrease the
density of a population in a given habitat

173. (3)
174. (4)
A. Touch
B. Smell
C. Cranial nerves

D. Medulla oblongata
175. (2)
176. (3)

Statement |:

[NCERT-II-191,192]
[NCERT--83]
iii. Sensory papilae

i. Nasal epithelium
iv. Peripheral nervous

system

ii. Foramen magnum

[NCERT-II-194, 195]
[NCERT-lI-22]

Orobanche and Striga are parasitic plant species of

angiosperm.
Statement Il :

Orchids fruits contain thousands of tiny seeds.

177. (1)
Statement |I:

[NCERT-lI-19]

— Embryo of dicotyledonous plant of

Angiosperm.
Statement Il :

A

Angiosperm.

: 1—> Embryo of monocotyledonous plant of




178. (3)
DY |:
SMI AIDS 3IR fRtiergfed —B | R ifefd HshHor
2| 3T TTd® B B
DY |l :

QM AIDS iR fRtiegfes —B aifftes wuei srerar wanfia
AT B HIH W Bl AhaT B |

179. (4) [NCERT--32, 33]
TS g & UIey fSwiiae iR a=H Jawensii & forg
@i B 21 U gig HRd gY HEd YT H
ool a2 | Y 3| dEd 7w H§ 98
T = ®

180. (1)

[NCERT-II-146]

[NCERT-I-111,112]

178. (3) [NCERT-I-146]

Both AIDS and hepatitis-B infections are chronic
infections and ultimately fatal.

Statement Il :

Both AIDS and hepatitis-B can be transmitted through
sexual contact or infected blood.

179. (4) [NCERT-I-32, 33]

Plants of this group are diploid and well adapted to
extreme conditions. They grow bearing sporophytes
in compact structures called cones. The group in
reference is Gymnosperms

180. (1) [NCERT--111,112]
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